LARGE FILING SEPERATOR SHEET

CASE NUMBER: 96 - 899 - TP - ALT

FILE DATE: WAN 1 9 2011

SECTION:

NUMBER OF PAGES: 96

DESCRIPTION OF DOCUMENT:

- Confidential release -part 3

CONTRACTOR BILLING UNIT PROPOSAL

Date Worked: [06/06/95] - [06/14/ Location: [MASON MONTGOMERY RD & Contractor: (BROCK & SONS, INC. Estimate Number: [M0437F] Contractor's Employees: [D. BOGGS	GOVERNORS HILL R.C.# [05040 Field Codes: [4C] [] [LETT] [T Inspector: [TRR]	000] EXTC: [497]] Area: [70000]]]	
ITEM NO.	UNIT OF NO. O MEASURE UNITS	F UNIT CONFT	FLENDINS OF COORSE Agreement NOC 96-899-TP-ALT NOC 96-899-TP-ALT
ITEM NO. 204D 12.00 X 8.00 X 8.50 DESC: EXCAVATING BY BACKHOE-S: ADDRESS:	CF 1.00 PEC BACKFILL-PER CU	\$.85 SUPULINEER BIG FOOT PUCTOR BELL CINCINNATIBELI	Noc 96-899-TP-ALT TELEPHONE COMPANY
706 1.00 % 1.00 % 1.00 DESC: PRECAST MANHOLE INSTALL DDRESS: .	1.00		
206C 1.00 X 1.00 X 1.00 DESC: BORING WITH AUGER 6+" TO ADDRESS:			4C
602 1.00 X 1.00 X 1.00 DESC: PLACING CONDUIT IN BORE ADDRESS:			4 C
203P 1.00 X 1.00 X 1.00 DESC: 18+" TO 24" WIDTH W/36" ADDRESS:			4 C
203S 1.00 X 1.00 X 1.00 DESC: 18+" TO 24" WIDE - ADDL ADDRESS:			4 c
600A 1.00 X 1.00 X 1.00 DESC: PLACE CONDUIT IN TRENCH ADDRESS:			4C
831 20.78 X 18.00 X 1.00 DESC: SAND BACKFILL-PER CUBIC ADDRESS:		\$.65 \$243.13	4C

TICKET: 10857 WORKED: 06/06/95 page 1

CONTRACTOR BILLING UNIT PROPOSAL

Co	ntractor's Rep. De	ate CBT In	spector	Date	
	Number of Items: 14	Total	Price:	\$5,963.33	
824	34.00 % 10.00 % 1.00 DESC: PLACING GRASS SEED AND S ADDRESS:	55 1.00	\$.13 \$3	1.00 4C	
822	ADDRESS: 35.00 X 15.00 X 1.00 DESC: PLACING GRASS SEED AND SADDRESS:	SF 1.00 STRAW WITH TOPSOIL-PE CIN	\$ FEOCO COTES	TELEPHO	NE COMPANT
	17.00 X 21.00 X 1.00 DESC: PLACING GRASS SEED AND SADDRESS:	STRAW WITH TOPSOIL-PE	R SQUARE FROM	-tactive Agic	- m
829	40.00 X 3.00 X 1.00 DESC: ASPHLT-BLACKTOP-MACADAM ADDRESS:		TS OF2"-PER S	QUARE FT	L
806	40.00 x 3.00 x 1.00 DESG: TEMPORARY RESTORATION OF ADDRESS:			0.00 4C	
837	22.87 X 27.00 X 1.00 DESC: FLASH FILL (COAL ASH) BA ADDRESS:				

CONTRACTOR BILLING MISC. WORK ACTIVITY

coation: [MASON MONTGOMERY ROAD contractor: [BROCK & SONS., INC.] Stimate Number: [MO437F] Ficontractor's Rep.: [GMB] CBT Instate Submitted: [06/12/95] Date Approposition of Work: [RODDED DUCT GOIN 400'. FLAGGED TRAFFIC WHILE SAW CUTTI	eld Codes: [40 spector: [TRR] roved: [06/13/9 IG DOWN GOVERNO	000]] Are]
LABO TEM ODE EXTC UNIT OF MEAS. 02 497 ABORER-PER HOUR o. of Emp.: 2 Names: D. MILLER &	NO. OF UNITS 8.00 T. MEYERS	UNIT CO PRICE CO \$16959ul PUCC INCINNATI	NFIDEN Subject to ter ate Pi2tectiv Case No. 96 BELL TELL	TIAL FIELD COBE e Agreement SOD-TP-ALT EPHONE COMPANY
TEM C EXTC UNIT OF MEAS.	PMENT NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
12 497 UMP TRUCK - 1 TON-PER HOUR	4.00	\$6.00	\$24.00	4C .
27 497 IR COMPRESSOR-PER HOUR	4.00	\$4.50	\$18.00	40
	20%	LABOR: MATERIAL: of MATL: QUIPMENT: TOTAL:	\$132.00 \$.00 \$.00 \$42.00 \$174.00	

Contractor's Rep. Date

TICKET: 2641 WORKED: 06/06/95

page 1

Date

CBT Inspector

CONTRACTOR BILLING MISC. WORK ACTIVITY

Ticket No.: [2642] Date Worked: [06/06/95] Location: [MASON MONTGOMERY ROAD 1 R.C.# [05040000] Contractor: [BROCK & SONS., INC.] Estimate Number: [MO437F] Field Codes: [4C] Area: [70000] Contractor's Rep.: [GMB] CBT Inspector: [TRR] Date Submitted: [06/12/95] Date Approved: [06/13/95] Description of Work: [DUG & LOCATED CONDUIT & BURIED CABLE. MET W/CBT] [& DECIDED TO BORE UNDER TREES AS NOT TO DISTURB THEM. CANCELLED MANHOLE DELIVERY AND PREPARED FOR BORE.] UNITCONFIDENTIAL LABOR Sufficient term Figure ITEM \$20,000 lated protective ABBement PUCO Case 100,000-800-TP-ALT NO. OF UNITS PRICE CODE EXTC UNIT OF MEAS. CINCINNATI BELL TELEPHONE COMPANY 101 497 4.00 EQUIPMENT OPERATOR-PER HOUR No. of Emp.: 1 Names: D. BOGGS 4.00 \$16.50 \$66,00 4C 102 497 LABORER-PER HOUR f Emp.: 1 Names: D. COUCH **EQUIPMENT** ITEM NO. OF UNIT FIELD PRICE TOTAL CODE EXTC UNIT OF MEAS. UNITS CODE 4,00 113 497 \$7.25 \$29,00 4C DUMP TRUCK - 1.5 TON OR GREATER-PER HOUR \$2.00 117 497 4.00 \$8.00 4C UTILITY TRAILER-PER HOUR 497 4.00 \$12.50 \$50.00 4C BACKHOE 1/4 YD. BUCKET ON RUBBER-PER HOUR LABOR: \$146.00 MATERIAL: \$.00 20% of MATL: \$.00 \$87.00 EQUIPMENT:

TICKET:

2642 WORKED: 06/06/95

page 1

TOTAL:

\$233.00

Mon May 13 1996_09:53:56

CONTRACTOR BILLING MISC. WORK ACTIVITY

Contractor's Rep.	Date	CBT Inspector	Date

Subject to terms of
Subject to terms of
Stipurfated Protective Agreement
PUCO Case No. 96-899-TP-ALT
PUCO Case No. 96-899-TP-ALT

PUCO Case No. 96-899-TP-ALI
CINCINNATI BELL TELEPHONE COMPANY

CONTRACTOR BILLING MISC. WORK ACTIVITY

Date Worked: [06/07/95] Ticket N Location: [GOVERNORS HILL Contractor: [BROCK & SONS., INC.] Estimate Number: [M0437F] Fi Contractor's Rep.: [GMB] CBT Ins Date Submitted: [06/12/95] Date Appr Description of Work: [RODDED DUCT FROM [DIGUPS 4X2X3. FOUND 200 PR CABLE BUT [eld Codes: [4M spector: [TRR] soved: [06/13/9 FROPOSED MANH	000] Arc]	
LABO	10	<u> </u>	CONF	IDENTIAL torms of
ITEM	NO. OF	UNIT	e dat	CONTRIBETION
CODE EXTC UNIT OF MEAS.	UNITS		TOTAL atod	erigiding of Agreement of Section 196-899-TP-ALT
102 497	8.00	\$16.50	Paigo Sas	Prooperive Agreement e No. 96-899-TP-ALT LATELEPHONE COMPAN
LABORER-PER HOUR	4,00	CINC	INNATI BEI	C.LETEL 110.
No. of Emp.: 2 Names: P. SHOEMAKER	& D. CLEMMONS	CINC	III and	
EOUI	PMENT			
ITFM	NO. OF	UNIT		FIELD
C(EXTC UNIT OF MEAS.	UNITS	PRICE	TOTAL	CODE
112 497	4.00	\$6.00	\$24.00	4M
DUMP TRUCK - 1 TON-PER HOUR			. ·	
127 497	4.00	\$4.50	\$18.00	4M
AIR COMPRESSOR-PER HOUR	-	·	•	
		LABOR:	\$132.00	
		MATERIAL:	\$.00	
		of MATL:	\$.00	
	E	QUIPMENT:	\$42.00	
		TOTAL:	\$174.00	
Contractor's Rep. Date	CBT Inspec	tor	Date	_

TICKET:

2652 WORKED: 06/07/95

page 1

CONTRACTOR BILLING MISC. WORK ACTIVITY

2 Howles J. 106 /20 /051				_
Date Worked: [06/12/95] Ticket No.: Location: [MASON MONTGOMERY & GOVERNOR'S H Contractor: [BROCK & SONS., INC.] R.]	
Estimate Number: [MO437F] Field Contractor's Rep.: [GMB] CBT Inspect	Codes: [40		ı: [70000]	
Date Submitted: [06/20/95] Date Approved	l: {0 <mark>6/22/</mark> 9	5]		
Description of Work: [4:00-5:30PM, COMPENS [WORK COMPLETED ON UNITS CROSSING MASON MO			E ON]	
[]	TENT A T
7 . P.A.D.		C	ONEIDI	ENTIAL seems of
ITEM	NO. OF	UNIT	Subject to	terms of Field greement
CODE EXTC UNIT OF MEAS.	UNITS	PRICE Stif	PICIAL PROCE	CODE 99-TP-ALT
101 497	. 75	\$20.00 ^{PU(}	CO Case No. Ti \$15; 90TE	terms of FIELA greement CODE 99-TP-ALT MEPHONE COMPANY
EQUIPMENT OPERATOR-PER HOUR No. of Emp.: 1 Names: D. BOGGS		CINCINNA	11 11/2000	-
102 497	1,50	\$16.50	\$24.75	4C
LARORER-PER HOUR No. f Emp.: 2 Names: D. COUCH & R. SH	IFFLETT			
•				
	 -	LABOR:	\$39.75	
-	209	MATERIAL: of MATL:	\$.00 \$.00	
		QUIPMENT:	\$.00	
		TOTAL:	\$39.75	

CBT Inspector

Contractor's Rep. Date

TICKET: 2725 WORKED: 06/12/95 page 1

Date

CONTRACTOR BILLING MISC. WORK ACTIVITY

				_
Date Worked: [06/09/95] Ticket No.: (Location: [MASON MONTGOMERY & GOVERNOR'S H) Contractor: [BROCK & SONS., INC.] R.C	LL :.# [0504	0000]]	
Estimate Number: [MO437F] Field C	odes: [4	C] Area	a: [70000]	
Contractor's Rep.: [GMB] CBT Inspector Date Submitted: [06/20/95] Date Approved:	r: [TRR]	/0.5.1		
Description of Work: [BUSTED OUT CONCRETE]			R EXISTING	1
(CONDUIT & CABLE TO ENTER. PATCHED THE OPEN		H BRICH AND	SAND MIX]	
į			<u>j</u>	NTIAL
			NEIDE	NIIAL
LABOR			Subject to t	erms of
ITEM	NO. OF	UNIT .	a project	Preed At T
CODE EXTC UNIT OF MEAS.	UNITS	PRICESUPU	TOTAL 9	6600 TP-ALI
		PUCC	DELL TEL	EPHONE COMMITTEE
101 497	2.00	CINCINGAT	B is40 :00"	EPHONE COMPANY
EQUIPMENT OPERATOR-PER HOUR No. of Emp.: 1 Names: D. BOGGS		Chris		-
NO. Of Emp., I Names. D. Books				
102 497	2.00	\$16.50	\$33.00	4C
LABORER-PER HOUR				
No of Emp.: 1 Names: D. COUCH				
MATERIAL				
	NO. OF	UNIT		FIELD
EXTC UNIT OF MEAS.	UNITS	PRICE	TOTAL	CODE
523	1.00	64 20	\$4.20	ለ ሮ
SAND MIX FROM STOCK - PER BAG	1.00	34.20	Ş4,2V	40
523				4 C
523	20.00	\$.22	\$4.40	4C
CONCRETE BRICK FROM STOCK - PER BRICK	20.00	y. 4.4	V4.40	40
EQUIPMENT				
ITEM	NO. OF	UNIT	TOTAT	FIELD CODE
CODE EXTC UNIT OF MEAS.	UNITS	PRICE	TOTAL	CODE
122 497	2.00	\$12.50	\$25.00	4C
BACKHOE 1/4 YD. BUCKET ON RUBBER-PER HOUR		-	-	
110 (07		47 05	A1A	40
113 497 DUMP TRUCK'- 1.5 TON OR GREATER-PER HOUR	2.00	\$7.25	\$14.50	40
DOME INDUK - I.J ION OR GREATER-FER HOUR				

TICKET: 2726 WORKED: 06/09/95 page 1

Mon May 13 1996_09:54:06

CONTRACTOR BILLING MISC. WORK ACTIVITY

		LABOR: MATERIAL: 20% of MATL:	\$73.00 \$8.60 \$1.72	-
		EQUIPMENT:	\$39.50	
		TOTAL:	\$122.82	
			CONFIDI Subject to Stipulated Protection	etive Agreement
Contractor's Rep.	Date	CBT Inspector	NATI BELL TI	96-899-TP-ALI ELEPHONE COMPAN

CONTRACTOR BILLING MISC. WORK ACTIVITY

Date Worked: [06/13/95] Ticket No Location: [MASON MONTGOMERY & GOVERNOR'S Contractor: [BROCK & SONS., INC.] Estimate Number: [M0437F] Fie: Contractor's Rep.: [GMB] CBT Inspendent Submitted: [06/20/95] Date Approx Description of Work: [FLAG TRAFFIC.]	S HÌLL R.C.# [0504 ld Codes: [4 ector: [TRR]	C] Ar	ļ	n i A I .
LABOR		CO	NFIDEN Subject to term	s of ment
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS			
103 497 FLAG PERSON-PER HOUR No. of Emp.: 2 Names: D. JONES & C.	16.00	\$15 FAOC CINCINNAT	SZEP PP	ODETP-ALT COMPANY
		LABOR: MATERIAL:	\$240.00 \$.00	_
		of MATL: EQUIPMENT:	\$.00 \$.00 \$.00	
•		TOTAL:	\$240.00	
	•			
Contractor's Rep. Date	CBT Inspe	ctor	Date	

TICKET:

2727 WORKED: 06/13/95

page 1

CONTRACTOR BILLING MISC. WORK ACTIVITY

Date Worked: [06/12/95] 2728] Ticket No.: [Location: [MASON MONTGOMERY & GOVERNOR'S HILL] Contractor: [BROCK & SONS., INC.] R.C.# [05040000]] Field Codes: [4C] Area: [70000] Estimate Number: [MO437F Contractor's Rep.: [GMB] CBT Inspector: [TRR] Date Submitted: [06/20/95] Date Approved: [06/22/95] Description of Work: [730-530PM FLAG TRAFFIC] 1 LABOR ITEM NO. OF UNIT FIELD PRICE TOTAL CODE CODE EXTC UNIT OF MEAS. UNITS 103 497 20.50 \$15.00 Subject to terms of Stipulated Protective Agreement FLAG PERSON-PER HOUR LABOR: PUSO Case No. 96-899-TP-ALT
MATERIAL CINNATIS: 00

of MATL:
QUIPMENT No. of Emp.: 2 Names: D. JONES & C. TAYLOR 20% of MATL: EQUIPMENT: \$.00 \$307.50 TOTAL: Contractor's Rep. CBT Inspector Date Date

TICKET:

2728 WORKED: 06/12/95

page 1

)

)

EL .		~ CI	NCINN	NATI BEL	L TELEPH	ONE			0 5 670 (11-93)
ESTIMATED CO	575		-			Para trade			· <u>-</u>
GROSS ADDITIONS	7.375	DISTRICT SOUTH	EAST	VERE CENTER	LOVELAND	DISTRICT	3	Јов на. М -1	0437-F
COST OF REMOVAL		ENGR'O DAVID A. KI	AMER	TEL.	344-7043	R/W REOU	IMED NO	S SHEET	1 🕶 2
GROSS EXPENDITURES	7-375	BY BO TRUTSCHI	<u>a</u>	NO.	344-7195	PRIVATE	MILTON C	*AnnuTV	
PLANT RETIRED	625	. "	4000				mate: Ota C	PRIORITY	NO.
SALVAGE	9				GOMERY			CO	N. 0-74
ASSOCIATED MAINTENANCE	500	CONDUIT			IS HILL		TON	COMPLET !	1. 1995
FOCUSED REHAB	•••	COMPOT	HIVE	ח ואפוער	IOLE IN	SIHLLHI	TON	TRANSMIT	IN BOTE
BILLING		05 394 NO.		ns	395 NO.		AIR PIPE	CABLE	CONO
ESTIMATED HAN	HOURS	POVER CO.		EH NO.			RT		9K 16A
AERIAL PLACING		SERVICE ORDER NO.	11	EM NO.	OUE DATE		\$4+		P03931
ARRIAL ARMOVAL		CONST. BUDGE	ГX	APPROVED				DATE	[-03B31
SPLICING	 	OROWTH	Ţ						
CONTRACTOR	288	HODERNIZATION	†	APPROVED				DATE	
U.G. PLACING		REPLACEMENT							
U.G. REHOVAL		CORP. EFFICIENCY	1						
OROPS		NEW REVENUE GEN.	† 	APPROVED		.)		DATE	
OTHER		PUBLIC HANDATE	1		A	KAPM	POTI	A 4.26	.95
				C	Sup PUC INCINNA	Subject to whited Prote O Case No II BELL T	. 96-899 ELEPH	ONE COM	IPANY
		SE	E SHEE	T NO. 2	FOR DETAI	LS			
		:	1 Me	anhole					
		1	t20'	"C"	Cond	uit .			
		1	143'	Tren	'Cond				
		MATERIAL.			PLEA	TRIC COMPANY SE NOTE POLE		RECORDS USE	DNLY
DATE ORDE	RED	REG. NO.			SET	IS N ÉÉDÉD B Ý FOLLOWING DAT	-1	PL 0 00 00	AP []
-	. 6	6/U B 6656165		31 F			CA*	DATE • YO DI	
L		6'H.R. PRECAST ED 4-20-95 P.	-		<u> </u>		CHECKE	O 8Y+	

420' - 4" P.C. "C" CONDUIT C.O. JUMPERS AFFECTED YES NQ 'O' CIRCUITS AFFECTED NO YES CPC APPROVAL HETHOD VERBAL APPROVAL RECEIVED ON (CONFIRMATION OS \$22 TO FOLLOW) 09 822 PRIVATE CINCLINATE OBLA. TELEPHENE CONFANT - PAGPALETARY (RESTRICTED) SOUBLY FOR AUTHORISED PERSONS HISTERS A HEED TO KNOW PURSUANT TO COMPANY INSTRUCTIONS FOR AUTHORIZED USE CHEF IND FURTHER DISCLOSURE RETURN TO CHICINGATE SELL TELEPHONE OR DESTROY IN A CONFIDENTIAL MANNER VORK COMPLETED BY WORK COMPLETED BY CATE COMPLETED SY DATE DATE WORK CONDUIT LINE CABLE

CONFIDENTIAL

Subject to terms of
Stipulated Protective Agreement
PUCO Case No. 96-899-TP-ALT
PUCO Case No. 17ELEPHONE COMPANY

MAINT 05/15/97

STATUS A TYPE S ITEM 43400M3 - -

DESC CONDUIT 4"W/CEMENT C DUCT DESC2 4340000020(MULT=20160 FT)
DESC3 CONDUIT 4" W/CEMENT DESC4 ORDER MULTI 20160FT=TRUCK
ALIAS1 ALIAS2

CLASS CD CONDUIT SUB C 10 DUCT

COMMENT2 COMMENT1

CAPITALIZE CENTRALLY ORDERED

LAST VENDOR 07809600 OPTI-COM MANUFACTURING PURCHASE DATE 05/18/98 LAST PRICE 0.6370 QUANTITY 20160.00 PU UNIT FT LAST PO # 268755

STOCKKEEPING UNIT FT FOOT CASE PACK FACTOR 1
SELLING UNIT FT FOOT SELLING UNIT FACTOR 1
PURCHASING UNIT FT FOOT PURCHASING UNIT FACTOR 1
BILLING UNIT FT FOOT BILLING UNIT FACTOR 1 / 1
CUBE/WEIGHT UNIT FT FOOT CUBE 1.000 WEIGHT 1.000

SSI 1 WAREHOUSED Y

MFG CODE SKU 0 EDI ACPT Y

PF7 HEADER PF8 BAL STD PF9 WM OPTIONS PF10 DRP/FCAST PF11 FINANCIAL 00 NEXT: INFO:

CONFIDENTIAL Subject to terms of Supulated Protective Agreement PUCO Case No. 96-899-TP-ALT CINCINNATI BELL TELEPHONE COMPANY

AN FOIL	IAL OPPORTU	INITY EMPLOYER		(A) Cincinn	ati Be	# Telephone	®	—	UAIL	FURHELEASE	2 NO
,	• -				1.	BLE 102-480			05/14/98	266556	
1	PURCHAS	E ORDER		P.O. BOX 2	301			L	-	THIS NUMBER MUST AP ALL RELATED DOCUM	PEAR ON VENTS
				6 CINCINNAT	I, OH 4	5201-2301				· 	
SU PPLIER	HA 14 P.	X 1-765-348 RTFORD CONC OO N. WABAS D. BOX 660 RTFORD CITY	RETE PRO H AVENUE			JOBS INSI	BITE- PTR W 19 HO CINNA BHT ON I	MARKI ILL (STELI TI () MATERI	ELL TELEPHON LEY RD GALL T2035-1 LER RUAU H 452410000 IAL PURCHASED MU ID SEPARATELY ON	P i	
	EXEMPT. RT. NO.	RFQ/CONTRAC	T NO.	SHIP YU		7.5	T		F.O.B.	REQUISITION NO	. PAGE
	000302	FRT-949		N/A					IVERIES ARE DESTINATION	143173	
g n. y				CONTACT PHONE NO.	BLAN	CET OFFICER NO.			TERMS		
CO3	UNIE MA	γς		513-397-7516		N/A	NE	T_30			
W	Call	PRODUCT NO. PODUCT NO.		DESCRIPTION		QUANTI	ΓY ···	UNIT	UNIT PRICE	TOTA	
1	0840	-10-122-T -GEN - *** -20-556 -GEN -	TERMIN REQUIR	E 10X5X7 J.W/ 48 ALS ED DATE 07/01/9 RE PKG FOR 10X5X	' G				Subject to to the protection of Case No. 9	mrs of Agreemen 6-899-TP-AL	; 1
ı		***	REQUIR	ED DATE 07/01/9	В	C		Ì			
3	F4248 47510		FRAME	& COVER MANHOLE	30"		1.0	D EA	440.0	909	440.0
		非非非	REQUIR	ED DATE 07/01/9	28						
1	CAR-M OP80	H-12-000 -GEN -		RING 6" TAPERED & 50" RECESS	W/		1.0) EA	70.0 مهر	1.	79.C
		维排律	REQUIR	ED DATE 07/01/9	78						
5	CAR-M OP80	H-12-007 -GEN -		RING 12" STRAIGH ID & 46.5 RECESS		:	1.0	O EA	90.0	00φ	90,0
		冰米米	REQUIR	ED DATE 07/01/5	78	1	are 5/1	D,			
ļ						1	511	4/	78		
		h									. G ⊘ ₹ . (
/	cho	AUTHORIZED SIGNATION SPECIAL S		5/14/9.	8				-	L	

นับสักษที่ยัง นิยังเมทิน

SER IL 314-14-4 PAGE ND COUNTATION MO CANCELLATION DATE CUST NO.

24895

12/31/99 CINO1

QUOTATION

< < < QUOTE > > >

s cincinnati bell telephone

THE CENT PART OF TA AND

GA doc 020 feath and

201 E. FOURTH ST.

PO BOX 2301

CINCINNATI, OH 45201-2301

INVOICE PROCESSING 102-4700

(PINE) And the least

CINCINNATI BELL TELEPHONE

HARKLEY ROAD

Fin.e.

CINCINNATI, OH

CONNIE MAYS FAX 513-651-1824

05/14/98

O #315.047#

Our Truck

Net 30

To the second

gentalisk Generalisk og fleret	05/14/98 WHSE	Greg Carter	Subject Subjec	ohio cto_terms of	mest,	74%
CA-MH-10-122-T	M/H 10X5X7 J w/ 48 TERM	1	erinulated P	012.00.899-T	912.001	MAY
HP-MH-20-556	HARDWARE PKG FOR 10X5X7 J	1	PUCO Case	227.00 PHO	1227 00	T
F4248N	Frame & Cover, Bell, 30", 8/8 W/	1	POCONATIBELI	446.00°	440.00	T "
	PENT HEAD SECURITY BOLTS #R1750-C1B		, "			
CAR-MH-12-000	GRADE RING, 6" TAPERED W/ 39" ID & 50" RECESS 475 LBS CONCRETE, W/	,		70.00	70.00	T "
CAR-161-12-007	CAST-IN STEP GRADE RING; 12" STRAIGHT W/39" ID & 46.5 RECESS 860 LBS CONCRETE W/ CAST-IN STEP	1		90.00	90.00	T *

SUBJECTAL



HARTFORD CONCRETE PRODUCTS, INC.

PRECAST MANHOLE ORDER FORM

L	<u>5 :ع</u> ،	-13-98 PUF	RCHASE ORD	ER NO	N	IAIL INVOICE T	O:	
Ma		or F Utility_	INATE BE	<u></u>	Street			
nia -	me 0:	, Project or Work	. 6-4 11	T-20	Street			
					1.			Zip
Jol	-Site	City CINKINNA	17.	_State <u>C</u>	Attention:			
					Phone			
		· 4			→ Date Bids A	re Due In		
į					= 3			
					-		•	
		TYPE "A"	TY	الملك الم	Additional N	otes:	<u> </u>	
ARTFO	RD CON	CRETE CONTACT			CUSTOM MANHO	ES: Custom work in	dudes relocation of	f conduit knock-outs,
OTAL I	NU MBER	MANHOLES THIS PROJECT	P/	AGE _	OF OPENINGE, OF THE ALL CUSTOM MA (SEE OTHER SID	MINISTER STATE OF THE STATE OF	HAVE AL BOCOM	ground rod holes, etc PANYING DRAWING.
AMMER AMBER	MANNOLE NUMBER	MANAGOLE SIZE (Chrole Chro) MANGE ORMONISCHE (Langth II Width x Dopth)	TYPE (Chair on Required)	HARDEARE PACKAGE (Circle One)	FRAME & COVER (CHCLE AS REQUINED) SELEMETY BOLIS	CHARLES TO CC.	D to Technotrees	REMORES ME LOCATION AMERICA MEDICALISM EMARKLEY RE
	•	2'X2'X2'10" 12'X5'X6'6"	STOOK) ouston	(FE) 40	# (F)	Signated Pro	Comme	E MONPAN E
	[1]	4'X4'X4' 12'X5'X7'	A PLAYED	STANDARD	STANDARD OF SHORT BASE	O CASCO	TOWN TO SERVICE THE PROPERTY OF THE PROPERTY O	emarkley ko
	3488	6"X6"X6" 12"X6"X9"6" 6"X4"X6" 12"X6"X12"	T-1 HOW T-1 LOW	CUSTOM	INTERTIBIT Nº SEL	PUCOCASAL	1 - ER TOROCKOUTS	
	Q	8'6"X5 <u>'8"</u> X7' 16'X6'X7'	LOAD W/PLATFORM		LOSO CINC	A STATE OF THE PARTY OF THE PAR	GUSTON	
•	O	10"X5"X7") 16"X6"X9"			TELEPHONE ELECTRIC GLANK		TEMPLATORS	
		10.X8.X8.8 10,X10,X8,	PART &	PART AL	CUMP STREETING ATWAY	1 1 1	OR OPENINGS	
	: 	x	PARI #		ASSY # PART #			
NOTE	S	<u> </u>				<u>. I </u>	1	
AWING	HANHOLE	MANIFOLE SIZE (Circle One)	TYPE	HANDWARE	FRAME & COVER	GRADE RINGE	COHOUIT	JOB SITE LOCATION
AMER	HULINER	(Length x Width x Dopth)	(Circle on Required)	(Chele One)	(CIRCLE AR REGURED) REQUIRTY SOLTE	0VANBT0	ENTRANCE	(HEAREST INTERSECTION)
		2'X2'X2'10" 12'X5'X6'6"	STOCK + CUSTOM	YEB NO	27" er 30"		STANDARD	
		4'X4'X4' 12'X6'X7'	A J EPLAYED	STANDARD	STANDAND OF SHORT BASE	1	TERMINATORS	
		6'X8'X8' 12'X6'X9'6"	T-1 1684 T-1 LOW	1	PROMICES STORMER WATERTONT Nº SEL		OR IGNOCIOUTS	
		8"X4"X8" 12"X6"X12"	LOAD W/PLATFORM	CHETOM	LONG	ASSY #	CUSTOM	
1		8'6"X5'6"X7" 16'X6'X7" 10'X5'X7" 16'X6'X9'	CULTUM		BELL STE UTS ATER		-	1
		10'X6'X6'6" 10'X10'X9'	ABEY #	ABEY 6	TELEPHONE ELECTRIC SLANK		OR OPENINGS	
ļ		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	PART #	PART &	078408			
NOTE	<u> </u>		<u> </u>		ASSY & PART &	<u> </u>		<u> </u>
		HAMMOLE SIZE (Circle Gne)	TIPE	HANDWARE	FRAME & COVER	GRADE RINGS	CONDUST	JOB STE LOCATION
ANDIG	HAMMOUZ	(Langth is Width is Dopth)	(Chain so Required)	PACKAGE (Otrale One)	(CIRCLE AS REQUINED) SECURITY BOLTS	GUANTITY:	ENTRANCE	(NEAREST INTERSECTION)
1		2'X2'X2'10" 12'X5'X6'8"	SLOCK & CRELOW	YEEL HO	27° == 38°	1	GRADHATS	
İ		4'X4'X4' 12'X6'X7'	A 1 SECUTED	STANDARD	STANDARD & BHORT BASE PROPHOLES SOEMALK		TERMINATORS	ļ
ļ		6'X6'X6' 12'X6'X9'6" 6'X4'X6' 12'X6'X12'	T-1 HIGH T-1 LOW	CUSTOM	MYSCHOOL AL BET	ASSY #	OR REGORALITE	
ı		8'8"X5'6"X7' 16'X6'X7'	LOAD W/PLATFORM		LOGO		CUSTON	
I		10'X5'X7' 16'X6'X9'	CURTOM		WELL ONE UTS ATM		TERMINATURS	
[10'X6'X6'6" 10'X10'X9'	ASST 4	495Y #	TREPHONE RECTING BLANK OTHER		OR OFFICIAL	
1		x	PART A	PART #	ABBY # PART #			
 _							<u> </u>	L
NOIL	3						` 🔪	

"A TRADITION OF QUALITY"

SINCE 1936

AN 50	IIAL OGOODTI	UNITY EMPLOYER			(Д) c	incinnati	Beil Ti	elephon	g ®	<u> </u>	DATE	FU/H	ELEASE	NU.
AN EU	OVE OSSOCIA	green Commission				OUNTS PA		•			05/18/9 a	269	0 1 9	
	PURCHAS	SE ORDER			į P.O.	BOX 2301 CINNATI, O	ł					THIS NUMB	ER MUST APPE ATED DOCUME	IAR OH INTS
<u> </u>							/m 432					·····		
	14 P.	X 1~765-348 ARTFORD CONC 100 N. WABAS O. BOX 660 ARTFORD CITY	RETE P SH AVEN	UE 47348	- S VOTI] _ E# 3	9 H - P T O	JOI INS 110 CII	SITE SPTR C D19 MO NCINNA NGHT ON	- 2 ALL STEL TI O	ELL TELEPHOR SIGREEN BEL. T4021P LER ROAD H 452410000 IAL PURCHASED MI ED SEPARATELY OR	L JST BE		
	EXEMPT. RT. NO.	REGICONTRAC	T NO.			GHEET VIA	44.			:	F.O.B.	REQUIS	ITION NO.	PAGE
	-000302	CBT-948	S 2.10	CONTRACTOR DE		N/A					IVERIES ARE DESTINATION	44	<u> 3398</u>	,
व्यक्त		CONTACT HAME			CONTACT PH	ONE HO	LANKET	OROLER NO:	e, sarr		TERMS			
Line	CHASTI	IG HELP LINE			513-397 ECRIPTION			ZA QUAN	HE	T 30	LINIT PRICE	1. 4	TOTAL	
1	CA~MH apro	-10~120~T -GEN ~ ***	•		A W/24				1 . 6	On S	ubject to term ted Protective Case No. 96-8	Agreen	aent	PAN'
*	нр~кн 0890	1-20-555 -GEN -	A &	10X5X7	KG FOR A ATE 07.			Cı	1.R KEINI	VCQ ATT	nojective ted Protective Case No. 96-8	969 969	e e e e e e e e e e e e e e e e e e e	(60, D
19	F4248 47510	* *			VER KAN	•	*		1.0	EA	449.0	000		(49. 0
	CAR~h	**** 1H~12~000	GRAD	E RING	ATE 07.	ERED W/			1.0	D EA	70.0	00 0		70.0 20.0
	0P90	-GEN -			O" RECE ATE 07						,			
5	CAR-N 0P80	H-12-007 -GEN -			,12" ST 46.5 R				1.0) EA	90.0	00		90.0
		***	REQU	IRED D	IATE 07	701/98		(همرو ای دامرو	1/98					

AUTHORIZED STGNATURE
MANAGER, SPECIALIST

3/18/98

2. 12. 1.V

ROBE SIM BATC PAGE NO. Y QUICTATION NO. Y CAMCELLATION DATE CHIEF, CHIEF, NO. 24968

12/31/99 CIN01

۲. ٥

pare real of action 1 (a) to 30 k ago.

Open real of the control o

< < < QUOTE > > >

CINCINNATI BELL TELEPHONE 201 E. FOURTH ST. PO BOX 2301 CINCINNATI, OH 45201-2301 INVOICE PROCESSING 102-4700

T-4021-P1 US25 & GREEN RD INDEPENDENCE, KY CONNIE MAYS FAX 513-651-1824

OUCTE DATE	MAKE SOFT SORT SORT	en en en	•	(r., s.	H. Hala		_
05/18/98		Our Truck			Net 30	ð	
BUVer	1. O	e transfer of the	antina di Protes	المنابع ال	net 30 dates		
	05/18/98	WHSE	Greg Carter	CON	to terms of Ohion	t _	
ण्या व्यक्ति दक्षणे द्वार सम्बद्धाः स्टब्स्ट्रास्ट्रास्ट्रास्ट्रास्ट्रास्ट्रास्ट्रास्ट्रास्ट्रास्ट्रास्ट्रास्ट्रास्ट्रास्ट्रास्ट्रा		· .	*********** *******	TAKE WEND	Protective Agree Al	THEANY	£ ×
CA-HH-10-129 HP-HH-20-55!			4 1	Supulated PUCO Co	Protective Agreement NA. 964899 TP-AL TEACHER NEW MARKET NEW MARKE	260.00	T
F4248N	FRAME & COVER, S/B W/ PENT HEAD SECU #R1750-C1B	· · · · · · · · · · · · · · · · · · ·	1	CINCINNALI	440.00	440.00	T
CAR-141-12-04	39" ID & 50" RECESS 475 LBS CAST-IN STEP		i 1		70.00	70.00	T
CAR-141-12-00		5	1		90.00	90.00	T



HARTFORD CONCRETE PRODUCTS, INC.

PRECAST MANHOLE ORDER FORM

L	<u>ع</u> نے	-15-99 PUF	RCHASE ORD	ER NO	M	IAIL IN	VOICE TO):	
Co	ntract	or			Company				
No	me o	orCINCI	NUATI B	ÉU_	Street				
		. Project or Work							• • • • • • • • • • • • • • • • • • • •
E8	limate	, Project or work	CENT	Der	/_ <i>/</i>				Zip
Jol	o-Site	city INDEREN	MEULE_	_State <u></u>	Attention:				
					Phone				
			_L,		Date Bids A	ra Dua	la.		·
Į				(()) <u>E</u>					
						-	,	•	
		TYPE "A"	īΥ	PE "J" LALLA	Additional N	otes: _			
ARTEC	RD CON	CRETE CONTACT	· .				سماء المساء	18 در در ۱ محسوس ما	of conduit knock-outs, ground rod holes, sto
TOTAL	NUMBER	MANHOLES THIS PROJECT	P/	1GE	OF ALL CUSTOM MA (SEE OTHER SIO	inhole or E)	DERS MUST	ENTITION HAVE AN ACCOUNT	PANYING DRAWING.
RAWNS	MANHOLE	NAME SIZE (Girale dine) . RNIBE DINESTONS (Longth = Width = Depth)	TYPE (Circle on Required)	HARDWARE PACKAGE	FRANK & COVER (CINCLE AS REGIMED)	CO		O TO THE PROPERTY OF THE PROPE	AND SITE LOCATION
- CANCE	HULLIER			(Cirele (tee)	SCOUNTY BOLIS	6	C'HICE.	Agreer	- ~
	<u></u> -	2'X2'X2'10" 12'X5'X8'8" 4'X4'X4' 12'X6'X7'	FTOOM OUTTON	10	ET ar SET	1 1.1	ot e4 · Fate	1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	E COMBANY
	13489	6'X6'X6' 12'X6'X8'6"	T-1 HODY T-1 LOW	STANDARD	ACDICAL SOLULI			STANDARD A	
	Ø	6'X4'X6' 12'X6'X12'	LOAD W/PLATFORM	CUSTON	LONG		Me L	CUSTOM	GREEN RD
	و	6'6"X5'8"X7' 16'X6'X7' (10'X5'X7') 16'X6'X9'	CUSTON		SET PLE RIS VINE VINE	11	• • • • • • • • • • • • • • • • • • • •		
		10'X6'X6'8" 10'X10'X8'	ASSY A	<u> </u>	TICLEPHONE ELECTRIC BLANK		- 1	THREADURES OR OPENINGS	j
		xx	PART 4	PART A	AMEY (PART (
NOTE	·s		<u></u>				<u> </u>	<u> </u>	
	. .		T		y*** ==================================	.		,	
RAWNO LAMER	SJOHAN RJANUH	UANHOLE SIZE (Crole One) RISIDE DEMENTACIONS (Langth a Wildh a Dopth)	TYPE (Circle on Required)	HARDHARE PACKAGE (Circle Circ)	PRAME & COVER (CIRCLE AN REQUIRED) - SECURITY BOLTS	GUANTIT	0" 13"	CONDUIT BITKANCE	JOB BITE LOCATION (NEAREST INTERSECTION)
		2'X2'X2'10" 12'X5'X6'6"	STOCK or CUSTON	YES 140	27 er 36°	I i		STANDARD	
		4'X4'X4' 12'X6'X7'	A # STLAYED	STANDARD	STANDARD OF SHORT BASE PROMINES SECTIONS		İ	TERMINATORS	
i		6'X6'X6" 12'X6'X9'6" 8'X4'X6' 12'X6'X12'	T-1 HIGH T-1 LOW	GUSTOM	WATERTICHT OF BELL			OR IGHOCKOLTS	
		8'8"X5'8"X7' 16"X6"X7'	LOAD W/PLATFORM CUSTOM		L000			CUETOM	
		10'X5'X7' 16'X6'X9'			TOLEPHONE DESCRIPTION SLAWS			TURNATORS	
		10"X8"X8"8" 10"X10"X9"	PART F	ABSY #	01101		i	OR OPENNOS	
ļ					ABBY & PART &	1 1			
NOTE	S					<u> </u>	<u> </u>	<u> </u>	
		MANSAGE SIZE (Chiefo Chie)	TIPE	HARDRARE	FRAME & COVER	en.v	20HB 30	CONDUIT	JOB STE LOCATION
LANDAG :	HUMBER	RISIDE CONFINICAS (Longilo x Militir II Copto)	(Circle us Required)	PACKAGE (Chuin Gne)	(CINCLE AS REGUMED) SECURITY BOLTS	CLANITI		BITRANCE	(NEARCHT INTERSECTION)
		2'X2'X2'10" 12'X5'X6'6"	STOCK # CUSTOM	YES NO	25° = 36°	 	- 4	ETAHOARO	
		4'X4'X4' 12'X5'X7'	A 1 SPLAYED	STANDARD	STANDARD or SHORT BASE	1	[TERMINATORS	
		6'X5'X6' 12'X6'X9'5"	T-1 HIGH T-1 LOW		PICKHOLES WHENLY WATERHOLE OF BOLL			OR IONDOXIOUTS	
1		5'X4'X6' 12'X6'X12'	LOAD W/PLATFORM	CUSTOM	FOOD ANABOLISM AND SET		FT #	CUETON	
		8'8"X5'8"X7' 16'X6'X7' 10'X5'X7' 16'X6'X9'	CUSTOM		MILL ONE UNE ATES			TURNATURE	
ĺ		10'X8'X6'8" 10'X10'X9"	ASSY #	ARRY A	TELEPHONE BLECTING BLANK	1 1	ì	OR OPENIOR	}
- 1			PART &	PART #					}
<u> </u>		xx			AREY # PART #			<u> </u>	<u> </u>
NOJ⊩	•							•	

"A TRADITION OF QUALITY"

SINCE 1936

CONFIDENTIAL

Subject to terms of
Subject to terms of
Stipulated Protective Agreement
PUCO Case No. 96-899-TP-ALT
PUCO Case No. 196-899-TP-ALT
CINCINNATI BELL TELEPHONE COMPANY

Tab D

Function: 6840

Expend: ALLEXPEND Account: ALLACCTS Jsi: All JSI Included State: ALLSTATE Source: 1000

YrPlaced: AllYrPlaced Projects: ALLPROJNPROJ

Mon Y CM1 - OCCUPATNL EMPLOYEE PRODUCT 2.708 CM2 - OCCUPATNL EMPLOYEE PREMIUM 280 CM3 - OCCUPATNL EMPLOYEE OTH COS 1,226 CM4 - LOCAL SUPRVSN & CLERICL 2,139 CU1 - MISC COST -DIRECT LABOR 2,740 CU201 - OTH WRK EQPT EXP-SAL & WAGE 96 **CU202 - OTH WRK EQPT EXP-BENEFITS** 28 **CU204 - OTH WRK EQPT EXP-OTH EXPEN** 1,215 CU3 - PLANT ADMIN EXP (DEPT) - CLEAR CU5 - PLANT ADMIN EXP (HDQTR)-CLEAR 2.529 CQ201 - MOTOR VEHICLE - SALARY & WA 589 CQ202 - MOTOR VEHICLE - BENEFITS 163 CQ204 - MQTOR VEHICLE - OTHER EXPEN 1,488 CHA01 - ENG PROJ-TEL ENG & PLT LBR-S 27 CHA02 - ENG PROJ-TEL ENG & PLT LBR-B 9 21 CHB - ENGR PROJ -OTH COST CF1 - REPORTING EMPLOYEE PRODUCT 356.851 CF2 - REPORTING EMPLOYEE PREMIUM 7.965 CF3 - REPORTING EMPLOYEE OTHER 19.251 CF4 - LOCAL SUPRVSN & CLERICL 63,024 CFB - MISC COST DIRECT ENGNG 203,966 CFD - ENGINEER EXP (DEPT)-CLEARNCE 108,634 CFF - ENGINEER EXP (HDQTR)-CLEARANC 70,018 463 - CONTRACTED ENGINEERING LABOR 91,219 481 - CONTRACTED LABOR&INSEPARABL 5.860 497 - OUTSIDE CONTRACTED PLANT LAB 2,252,803 644 - REAL ESTATE - RELATED FEES 8.218 769 - BUSINESS CONSULTING SERVICES 25 451 - EASEMENTS 3,597 899 - OTH BUSINESS COSTS 13,957 CQ301 - MATERL PROVISIONG-SAL & WAG 28.821 CQ302 - MATERL PROVISIONG-BENEFITS 7,753 CQ304 - MATERL PROVISIONG-OTHER EX 21,815 523 - MATERIAL PURCHASES 522,828 CJ1 - PLANT SUPPL - NONEXEMPT 425,405 101,553 CQ1 - EXEMPT MATERIAL OVERHEAD CJ9 - OTHER MATERIALS & SUPPLY 18,788 CY801 - BILLED TO OTHERS-SALARY & W (987)CY802 - BILLED TO OTHERS-BENEFITS (252)CY804 - BILLED TO OTHERS-OTH EXPENS (6,115)

Cincinnati B 'elephone Monthly Analysis Report for ALL EXPENDITURE TYPES Yearly 1997

Report PNDBAS

497 Represents Contractor Charges

\$23 Represents materials charged directly sto the 4C account. Manholes are sincluded here.

and therecharged to the 4C account.

Conduct materials are included here

Cincinnati Bell Telephone Confidential - Destroy by Shreeting

RC: ALLRCS Function: 6840

Expend: ALLEXPEND Account: ALLACCTS

Jsi: All JSI Included State: ALLSTATE Source: 1000

YrPlaced: AllYrPlaced Projects: ALLPROJNPROJ

Cincinnati B alephone Monthly Analysis Report for ALL EXPENDITURE TYPES Yearly 1997

Report. **PNDBAS**

Mon 35,826 CY1 - CORPORATE ENTRY- OTHER EXPE 813 - INTEREST CHARGED CONSTRUCT 4,637 81,408 CN3 - PAYROLL RELATED BENEFITS **CN5 - PAYROLL TAXES** 40,556

Total ALLEXPEND · ALL EXPENDITURE T 4,602,881

Engineering, Exempt Material
Other CBT Support
Loadings Factor

2,252,803 + 522,828 + 425 2,252,803 + 522,828 + 42540500 ON PARTY CONTRACTOR OF CONT

3:43 PM

CONFIDENTIAL

Subject to terms of
Subject to terms of
Supulated Protective Agreement
PUCO Case No. 96-899-TP-ALT
PUCO Case No. 96-899-TP-ALT
CINCINNATI BELL TELEPHONE COMPANY

Tab E

SUBJECT: ACCOUNTING CLASSIFICATION OPINION

INNERDUCT IS EXPENSED

November 30, 1988 File: AC19.3.1220 X: AC19.3.2420

Re: Proper Accounting for Innerduct Used with Fiber Optic Cable

Subject to term Agreement

Property:

Property:

Property and Cost Staff has requested no an Fraccounting Classification Opinion for Innerduct which will be used when placing Aerial and Intrabuilding Network Fiber Optic cable.

Currently, the primary use of Innerduct systems where conduit systems where

existing conduit system in order to maximize the use of the structure and protect the Fiber Optic cable from the environment. Innerduct used in this manner at CBT is ordered and installed as a Conduit System Expense - FRC 4M.

We have found conflicting accounting opinions issued by AT&T and Bellcore in reference to the Innerduct placed in existing conduit systems. AT&T Accounting Ruling 80-004 dated March 27, 1980 states:

"Since the Innerduct is required primarily to provide a controlled underground placing environment for optical fiber cable and to protect it from the typical buried cable or underground conduit environment, the installation, removal and maintenance costs should be included in the account appropriate for the optical fiber cable."

Bellcore issued an opinion dated August 24, 1984 in which they state:

"...that the placement of this innerduct in existing conduit should be treated as an expense of the original duct system."

CBT is currently following this latter Bellcore ruling.

The conduit system itself does not require the Innerduct. The Innerduct is required for the placement of Fiber Optic cable. We agree with the AT&T Accounting Opinion #80-004 mentioned above. It is our opinion that the cost of the Innerduct should be included in the same account that the cable is charged to.

This could be accomplished by purchasing the Innerduct to Account 1220.1221 - Plant Supplies - Exempt - Cable Non-Metalic (SPFC 5C5Q), and disbursing it to the appropriate cable account, using existing exempt material clearance procedures. It could also be accomplished by purchasing it to Account 1220.1100 - Plant Supplies - Nonexempt, (SPFC 5C50) and reporting usage to the cable accounts.

Any questions regarding this matter and be referred to me on Subject to terradolto me on terradolto me on terradolto me on terradolto me on terradolto me on terradolto me on terradolto me on terradolto me on terradolto me on terradolto me on terradolto me on terradolto me on terradolto me on terradolto me on terradolto me on terradolto x-6130 or Linda Weberding on x-6184.

PUCO Cuse No. 96-899-TP-ALT CINCINNATI BELL TELEPHONE COMPANY

> Staff Manager Accounting Classifications

BGM/

cc: W. M. Stewart

W. L. Tiemeier

J. J. Snider

DATE: November 11, 1988

TO: Linda Weberding 102-780

FROM: Jerry Snider 116-700 (x6185)

SUBJECT: Accounting Classification for New Use of Innerduct

Distribution Services has notified CAM Staff that they are looking into new ways of using Innerduct in conjunction with the construction of Fiber Optic Cable Systems. Today the primary use of Innerduct is in underground conduit systems where one or more Innerducts are placed in an existing conduit in order to maximize the use of the structure.

Innerduct used in this way is ordered and placed on field code 4M.

CONTROL OF THE CO

CONFIDENCE OF THE CONFIDENCE O

Please provide your opinion of the accounting for the ordering and placement of Innerduct based on the following:

- A) Innerduct will be used in conjunction with the placement of aerial Fiber Optic Cable. The Innerduct will be lashed to strand and the Fiber Cable placed inside of the duct. The prime reason for this proposal is to provide the Fiber Cable extra protection from the environment. Currently strand that supports Fiber Optic Cable is charged to 822C.
- B) Innerduct will be used in conjunction with the placement of Fiber Optic Cable in riser shafts in buildings. First a special fire retardant Innerduct will be placed and then the Fiber Cable placed in side. The Inner duct in this scenario will serve a - number of functions, 1) provide extra protection, facilitate the placement of the cable and 3) allow the placement of non-fire retardant cable in buildings.

In both of the above conjectures the type of Innerduct that will be used can readily be identified and one should not be substituted for the other. In no case would Innerduct used in underground installations be used in either proposal.

Federal Communications Commission

All de Carrier

FCC 98-20

Before the Federal Communications Commission Washington, D.C. 20554

Implementation of Section 703(e)

of the Telecommunications Act
of 1996

Amendment of the Commission's Rules
and Policies Governing Pole
Attachments

CONFIDENTIAL
Subject to terms of

Subject to terms

Stipulated Protective Agreement

PUCO Case No. 96-899-TP-ALT

PUCO Case No. 96-899-TP-ALT

CINCINNATI BELL TELEPHONE COMPANY

REPORT AND ORDER

Adopted: February 6, 1998

Released: February 6, 1998

By the Commission:

Table of Contents

					Paragraph N	o.
i.	Introd	duction	• • • • • ·			i
II.	Backs	ground			***********	2
Ш.		_			greements and	_
	_			_	lures	10
IV.	•					
	Α.	_		_		
	* **	1			sumptions	
		?			on Services Provided over Pole Attachments	
		3			chments	
		4.			e Cost of Other than Usable Space	
		-7 .	a.		od of Allocation	
			а. b.	_		
			O.		nting Attaching Entities	43
			•	(1)	Telecommunications Carriers, Cable	
				483	Operators and Non-Incumbent LECs	43
				(2)	Pole Owners Providing Telecommunications	
					Services and Incumbent LECs	
				(3)	Government Attachments	
				(4)	Space Occupied on Pole	55
				ł		

Federal Communications Commission

FCC 98-20

Appendix A: Revised Rules

Appendix B: List of Commenters

has deteriorated beyond usability, USTA believes it should be counted in the unusable space category and therefore included in allocation of costs for unusable space to attachers. We disagree. We are reluctant to require that the costs of space that can not be used by, and provide no benefit to, an existing attaching entity should be allocated beyond the utility conduit owner. In contrast, unusable space on a pole is largely attributed to safety and engineering concerns, adherence to which benefits the pole owner and attaching entities. Space in a conduit that has deteriorated serves no benefit to the existing rate-paying attaching entities. Deteriorated duct creates space that has been rendered unused by the utility. If such space could, with reasonable effort and expense, be made available, the space is usable and not unusable.

c. Half-Duct Presumption for Determining Usable Conduit Sport

- 112. Certain telecommunications carriers support the proposed half-duction thodology preement determining a conduit rate for usable space. Bell Atlantic and GTE agree with the simplicity and P-ALT efficiency of our proposed formula, while SBC supports its applicability to relecommunications carriers as well as cable operators because it is based on "actual figures and presumptions that attempt to approximate actual figures." GTE estimates that the average complicate on sists of four ducts. GTE further indicates that consideration of the variations in duct diameter "... would unduly complicate the formula with even more non-public data, resulting in additional pole attachment disputes." SBC states that the half-duct methodology will adjust easily to telecommunications carriers that may use copper facilities that occupy an entire duct. 161
- 113. Other telecommunications carriers and some cable operators oppose the use of the half-duct methodology asserting that it creates too large a presumption of usable space, resulting in rates that could result in an unreasonably high pole attachment rate. Sprint, on the other hand, opposes the methodology, indicating that due to the likelihood of damaging existing cables, it does not allow another

ducts' element in the formula to reduce the average number of ducts in the denominator of the occupied space component of the formula. The adjustment for reserved ducts element would be the number of reserved ducts that all attachers have the right to use in the event of a cable break or that they otherwise receive benefit from in any other way. If the attacher has no right to use that space or receives no benefit from that duct, we propose that the denominator should not be reduced.

¹⁹⁴ See USTA Comments at 4-5.

³⁴⁰Bell Atlantic Comments at 8; GTE Comments at 14; KMC Telecom Comments at 8; SBC Comments at 30.

³⁶¹SBC Comments at 31 (emphasis in original).

³⁶²GTE Comments at 14.

¹⁶¹SBC Comments at 30-31.

³⁶⁴AT&T Comments at 22, Reply at 18-19 & 25; ICG Communications Comments at 55, Reply at 21,24-25; NCTA Comments at 25; NCTA CS Docket 97-98 Comments at 39; TCI CS Docket 97-98 Comments at 16; Time Warner Cable CS Docket 97-98 Comments at 28.

cable through a duct where there are no inner-ducts.³⁶⁵ Sprint states that once an attacher uses an empty duct. 100% of the space has been effectively used.³⁶⁶

- communications cable cannot share the same duct due to practical and safety concerns as evidenced by the NESC. Generally, the electric utilities state that safety considerations compel differences between electric utility and other conduit systems. American Electric, et al., indicate that underground conduit is often used by the electric utilities solely to hold conductors that carry high voltage electric current. Further, they state that the difference between electric utility conduit systems and other conduit of telephone utility conduit systems and other conduit of telephone utility conduit systems. NCTA replies that utilities have not demonstrated that the office of conduits between telecommunications carriers and electric utilities poses significant safety fields. Some all methodology is inappropriate for the pricing of access to electric utility bundlift. Specifically the company of the number of ducts deployed or available in their system."
- 115. We adopt our proposed reburtable presumption that a cable or telecommunications attacher occupies a half-duct of space in order to determine a reasonable conduit attachment rate: We note that the NESC rule relied on by the electric utilities does not prohibit the sharing of space between electric and communications. Rather, the rule conditions the sharing of such space on the maintenance and operation being performed by the utility.³⁷⁴ We continue to believe that the half-duct methodology is the

³⁶⁵The term "inner-duct" generally refers to small diameter pipe or tubing placed inside conventional duct to allow the installation of multiple wires or cables.

¹⁶⁶ Sprint Comments in CS Docket 97-98 at 11.

³⁶⁷See American Electric, et al., Comments at 54; Duquesne Light Comments at 49-52; Ohio Edison Comments at 47-49; Union Electric Comments at 41-46 (citing NESC Rule 341(A)(6) which states: Supply, control and communication cables shall not be installed in the same duct unless the cables are maintained or operated by the same utility).

¹⁶⁸ American Electric, et al., Comments at 55; Dayton Power Comments at 3; Edison Electric/UTC Reply at 26.

³⁶⁹American Electric, et al., Comments at 55-57.

¹⁷⁰American Electric, et al., Comments at 55.

³⁷¹NCTA Reply at 23.

³⁷²American Electric, et al., Comments at 52-53; Edison Electric/UTC Comments at 28.

³⁷³American Electric, et al., Comments in CS Docket 97-98 at 83.

¹⁷⁴NESC Rule 341(A)(6) states that: "Supply, control, and communication cables shall not be installed in the same duct unless the cables are maintained or operated by the same utility."

CONFIDENTIAL

STREET OF THE STREET OF

MICCO CASE NO. 96-699-TP-ALT

CINCINNATI BELL TELEPHONE COMPANY

Tab F

PRICE MASTER

PO 01 WH 01 DATE 05/28/98

MAINT 05/20/98

12200 ITEM

INNERDUCT 1-1/4" W/1/4" 000000000 POLY ROPE ORG

STATUS A TYPE S

DURALINE CORP MANUF

OP OUTSIDE PLANT CLASS

SUB C 80 ACCESSORIES

00010901 GTE SUPPLY VENDOR

ALPHA GTE SUPPLY INNERDUCT 1-1/4" SMOOTH

0.2942

VNDR ITEM NO 1250-1133-1021 VNDR/ITEM DESC

BUYER 206 CONNIE MAYS

COMMENT

LIST PRICE LIST PRICE 0.2900+ LIST PRICE DATE 05/20/98 EX
REPAIR PRICE 0.0000+ REPAIR EXP DATE 00/00/00 0.2900+ LIST PRICE DATE 05/20/98 EXPIRATION DATE 12/31/98

PURCH UNIT FT FOOT SHIP VIA

MAX OPO ONFIDENTIAL 50000.00.00.00.EUROBAGETTS 0400+ LEAD TIME 14+ DAYS 0.00 % FACTOR

LAST ORDER - PRICE 0.2942 QUANTITY

PRIOBUNDATHS NERECTO PRIOR THE ALT 1 M AGOO Case No a service of the Control of the Co 2 M AGOTI BELL TO 2942
CINCINGO 0 2020 QTY BREAKS DISC PRICE DISC % 0.00 0.000 0.0000 0.00 0.000 0.0000 0.00 0.000 0.0000 0.00 0.000 0.0000 0.00 5 M AGO 0.000 0.0000 0.2942 6 M AGO

00 NEXT: INFO: MENU BYPASSED

Conduit & Buried Cable Operations Labor

23 of 29 Contract No. CBT1106 Exhibit B

	-14001				exhibit B	_
ITEM	DESCRIPTION	UNIT	3/1/97	3/1/98	3/1/99	
430A	Place FOC in bored hole all sizes	Per cable/foot	\$0.30	\$0.33	\$0.37	
440A	Place FOC Building 24" spacing clamps	Per Linear Foot	\$1.46	\$1.62	\$1.80	
440B	Place FOC Building conduit/riser all size	Per Linear Foot	\$1.46	\$1.62	\$1.80	
450A	Remove FOC from UG duct.	Per Linear Foot	\$1.46	\$1.62	\$1.80	
600	Placing conduit, all sizes.	Per duct/linear ft.	\$0.19	\$0.21	\$0.22	
601	Place duct in bored hole 0"-2"	Per Linear Foot	\$0.18	\$0.20	\$0.22	
602	Place duct in bored hole >2"-4"	Per Linear Foot	\$0.19	\$0.21	\$0.22	
603A	Repair vacant conduit.	Per duct foot	\$6.43	\$7.13	\$7.92	T.
603B	Repair occupied conduit	Per duct foot	\$7.67		F 79.451	
604	Install Y or T branch	Per Unit	\$13.66		.\$16,83)f	
605	Remove cucrte encasement around duct	Per duct/foot	\$6.27	S\$6.961	\$7.72 ore	ement
605A	Remove conduit only.	Per duct/foot	\$0.23	1a(\$0.26	EV TO DO O	ID ALL
606	Place split conduit on cable.	Per Linear Foot	\$1.36	O Crain	\$1.6810	NE COMPA
620	Place innerduct <1.25" od	Per Linear Foot	\$0.37	150.11	30.46	
621	Place innerduct in trench	Per Linear Foot	N G6:22	S 0.22	\$0.22	
622	Place innerduct in bored hole ≤ 1.25"	Per Linear Foot	\$0.37	\$0.41	\$0.46	
623	Core Drill manhole walls for conduit	Per Hole	\$175.00	\$183.75	\$192.93	
623A	Core Drill manhole walls > 9 in. thick	Per add. In. /hole.	\$12.50	\$13.12	\$13.77	
630	Place pull wire in multiduct	Per Linear Foot	\$0.20	\$0.23	\$0.25	•
631	Place pull wire in existing duct.	Per Linear Foot	\$0.81	\$ 0.91	\$0.91	
632	Place pull wire in vacant duct.	Per Linear Foot	\$0.30	\$ 0.33	\$0.37	
633	Place pull wire in occupied duct.	Per Linear Foot	\$0.40	\$0.44	\$0.49	
634	Place pull wire in innerduct	Per Linear Foot	\$0.21	\$0.23	\$0.26	
700A	Concrete pull box.	Per Cubic Foot	\$8.40	\$8.60	\$9.00	
700B	Concrete manhole 24" cover.	Per Cubic Foot	\$11.32	\$12.57	\$13.95	
702	Manhole walls reinforced.	Per Unit	\$850.00	\$870,00	\$898.35	
703	Manhole floor reinforced.	Per Unit	\$187.00	\$187.00	\$187.00	
704	Concrete 4000 PSI	Per Cubic Foot	\$2.86	\$3.18	\$3.53	
705	Concrete high early strength.	Per Cubic Foot	\$0.26	\$0.26	\$0.26	
706	Precast manhole installed.	Per Unit	\$389.87	\$432.75	\$480.37	
707	Timber bridging.	Per Square Foot	\$1.42	\$1.43	\$1.44	
708	Timber sheathing left in place.	Per Square Foot	\$3.50	\$3.75	\$4.06	
709	Adjust manhole frame and cover.	Per Unit	\$172.07	\$190.99	\$212.01	
709A	Place/remove 12" concrete collar.	Per Unit	\$ 46.10	\$51.17	\$56.80	
709B	Place/remove 6" concrete collar.	Per Unit	\$24.31	\$26.98	\$29.95	
709C	Layer of brick furnished and installed.	Per Layer	\$35.44	\$39.34	\$43.67	
709D	Layer of brick removed.	Per Layer	\$27.33	\$ 30.33	\$33.67	
720A	BSW closure	Per Unit	\$15.28	\$16.96	\$18.83	
720B	Pull box all sizes.	Per Unit	\$54.65	\$60.66	\$67.34	
730A	Remove Brick pull box/ manhole	Per Cubic Foot	\$ 3.69	\$4.10	\$4.55	
730B	Concrete manhole walls up to 9" thick.	Per Cubic Foot	\$5.48	\$6.08	\$6.75	
730C	Concrete manhole wall excess of 9" thick	Per Cubic Foot	\$7.79	\$8.65	\$9.60	
750	Place pedestal no excavation	Per Unit	\$14.67	\$16.29	\$18.08	
751A	Maintenance work on Pedestals	Per Unit	\$8.20	\$9.10	\$10.10	
751B	Raise/lower pedestal	Per Unit	\$8.20	\$9.10	\$10.10	
752	Construct concrete pad.	Per Cubic Foot	\$21.40	\$23.76	\$26.37	
	· - 			•		

CONTIDENTIAL

Subject to terms of
Stipulated Protective Agreement
PUCO Case No. 96-899-TP-ALT
CINCINNATI BELL TELEPHONE COMPA

	 		
Contractor's Rep.	Date	CBT Inspector	Date

				
Date Worked: [09/06/95] Ticket No.: Location: [WEAVER ALLEY 954205. Contractor: [J.DANIEL & CO., INC.] R. Estimate Number: [M5440B] Field Contractor's Rep.: [ER] CBT Inspect. Date Submitted: [09/07/95] Date Approved Description of Work: [RESTRICTED TIME 7:30	BNW C.# [05030 Codes: [40 or: [RMH] : [09/15/9	000] :] Ar] ea: [70000]	
]	
LABOR				
ITEM	NO. OF	UNIT		FIELD
CODE EXTC UNIT OF MEAS.	UNITS	PRICE	TOTAL	CODE
102 497 LABORER-PER HOUR	3.00	\$16.03	\$48.09	4 C
No. of Emp.: 2 Names: D.WHITT & S.PIER	SON			
MATERIAL	ı			
	NO. OF	UNIT		FIELD
EXTC UNIT OF MEAS.	UNITS	PRICE	TOTAL	CODE
523 CONCRETE CORING (TKT#33763) 68 FT X 12" F/		\$175.00 VER 8" CON		4C
EQUIPMEN	T			
ITEM	NO: OF	UNIT		FIELD
CODE EXTC UNIT OF MEAS.		PRICE	TOTAL	CODE
111 497 PICKUP TRUCK (OTHER THAN SUPERVISOR'S)-PER	1.50 HOUR	\$1.00	\$1.50	4 C
112 497 DUMP TRUCK - 1 TON-PER HOUR	1.50	\$7.10	\$10.65	4C
127 497 AIR COMPRESSOR-PER HOUR	1.50	\$6.60	\$9.90	4C
		LABOR:	\$48.09	
		MATERIAL:	\$175.00)
	201	of MATL:	\$35.00)
	E	QUIPMENT:	\$22.05	•
		TOTAL:	\$280.1	.4

TICKET: 2028 WORKED: 09/06/95 page 1

Mon May 13 1996_09:17:19

CONTRACTOR BILLING MISC. WORK ACTIVITY

Company of Box	Do to			Doto
Contractor's Rep.	Date	CBT Insp	ector	Date

TICKET: 2028 WORKED: 09/06/95

Date Worked: [09/11/95] Ticket No.: Location: [WEAVER ALLEY @ RACE 956 Contractor: [J.DANIEL & CO., INC.] R Estimate Number: [M5440B] Field Contractor's Rep.: [ER] CBT Inspec Date Submitted: [09/12/95] Date Approve	4205BNW .G.# [05030 Codes: [4C tor: [RMH] d: [09/15/9	000]] Are] ma: [70000]	
Description of Work: [RESTRICTED TIME 7:30 [0-9:00]]	
LABOR				
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
102 497 LABORER-PER HOUR	3.00	\$16.03	\$48.09	4 C
No. of Emp.: 2 Names: K.ERNST & B.WHI	TAKER			
EQUIPME	NT NO. OF	UNIT		FIELD
CC EXTC UNIT OF MEAS.	UNITS	PRICE	TOTAL	CODE
112 497 DUMP TRUCK - 1 TON-PER HOUR	1.50	\$7.10	\$10.65	4 C
127 497 AIR COMPRESSOR-PER HOUR	1.50	\$6.60	\$9.90	4 C
		LABOR:	\$48.09)
		MATERIAL:	\$.00)
		of MATL: QUIPMENT:	\$.00 \$20.55	
		TOTAL:	\$68.6	4
Contractor's Rep. Date	CBT Inspec	tor	Date	

TICKET:

2061 WORKED: 09/11/95

Date Worked: [09/12/95] Ticket No.: Location: [WEAVER ALLEY @ RACE ST 95420 Contractor: [J.DANIEL & CO., INC.] R. Estimate Number: [M5440B] Field Contractor's Rep.: [DD] CBT Inspect Date Submitted: [09/12/95] Date Approved	5BNW C.# [05030 Codes: [40 or: [RMH]	000] :] Are] ea: [70000]	
Description of Work: [1/2 PREMIUM TIME 12; [[]	
LABOR				
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
102 497 LABORER-PER HOUR No. of Emp.: 3 Names: K.ERNST, B.WHITA	1.50 KER & E.RA	\$16.03	\$24.05	4C
		LABOR:	\$24.05	
		MATERIAL: of MATL:	\$.00 \$.00	
		QUIPMENT:	\$.00	
		TOTAL:	\$24.0	5
Contractor's Rep. Date	CBT Inspec	tor	Date	_

Date Worked: [09/11/95] Ticket No.: Location: [WEAVER ALLEY @ RACE ST 95420 Contractor: [J.DANIEL & CO., INC.] R. Estimate Number: [M5440B] Field Contractor's Rep.: [DD] CBT Inspect Date Submitted: [09/12/95] Date Approved Description of Work: [RESTRICTED TIME 4:30]	DSBNW .C.# [05030 Codes: [40 tor: [RMH] i: [09/15/9	0000] ; } Ard		
LABOR				
ITEM CODE EXTC UNIT OF MEAS.	NO. OF Units	UNIT PRICE	TOTAL	FIELD CODE
102 497 LABORER-PER HOUR	16.50	\$16.03	\$264.50	4C
No. of Emp.: 3 Names: K.ERNST, B.WHITA	KER & E.RA	NDALL		
EQUIPMEN				
C' EXTC UNIT OF MEAS.	no. of Units		TOTAL	FIELD CODE
112 497 DUMP TRUCK - 1 TON-PER HOUR	1.50	\$7.10	\$10.65	4C
127 497 AIR COMPRESSOR-PER HOUR	1,50	\$6.60	\$9.90	4C
156 497 FLASHING TRAFFIC ARROW-PER HOUR	1.50	\$5 .50	\$8.25	4C
	201	LABOR: MATERIAL: of MATL: QUIPMENT:	\$264.50 \$.00 \$.00 \$28.80))
		TOTAL:	\$293.3	0
Contractor's Rep. Date	CBT Inspec	tor	Date	

page 1

TICKET: 2063 WORKED: 09/11/95

Date Worked: [09/12/95] Ticket Location: [WEAVER ALLEY @ RACE	954205BNW R.C.# [05030 Field Codes: [4C nspector: [RMH] proved: [09/15/9	000] Arc] ea: [70000] TIME 6:00-]]	
TAX	BOR			
ITEM CODE EXTC UNIT OF MEAS.	NO. OF	UNI T PRICE	TOTAL	FIELD CODE
102 497 LABORER-PER HOUR No. of Emp.; 3 Names: D.WHITT, S.		•	\$216.41	4C
ITEM C' EXTC UNIT OF MEAS.	****	UNIT PRICE	TOTAL	FIELD CODE
111 497 PICKUP TRUCK (OTHER THAN SUPERVISOR'S	1.50 G)-PER HOUR	\$1.0 0	\$1.50	4C
112 497 DUMP TRUCK - 1 TON-PER HOUR	1.50	\$7.10	\$10.65	4C
127 497 AIR COMPRESSOR-PER HOUR	1.50	\$6.60	\$9.90	4C
156 497 FLASHING TRAFFIC ARROW-PER HOUR	1.50	\$5.50	\$8.25	4C
		LABOR:	\$216.41	
		MATERIAL:	\$.00	
		of MATL: QUIPMENT:	\$.00 \$30.30	
		TOTAL:	\$246.7	1

Contractor's Rep. Date CBT Inspector

Date

LABOR: \$288.54
MATERIAL: \$622.50
20% of MATL: \$124.50
EQUIPMENT: \$39.45

TOTAL: \$1,074.99

Date Worked: [09/21/95] Ticket No.: Location: [WEAVER ALLEY 9542 Contractor: [J.DANIEL & CO., INC.] R Estimate Number: [M5440B] Field Contractor's Rep.: [ER] CBT Inspect Date Submitted: [09/22/95] Date Approve Description of Work: [RESTRICTED TIME 7:3	05BNW C.# [05030 . Codes: [40 tor: [RMH] d: [09/29/9	000] Arc	} ea: [70000]	
]	
LABOR		·· <u>·</u>		
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD
102 497 LABORER-PER HOUR	3.00	\$16.03	\$48.09	4C
No. of Emp.: 2 Names: D.WHITT & K.MOL				
ITEM CC EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL.	FIELD CODE
111 497 PICKUP TRUCK (OTHER THAN SUPERVISOR'S)-PE	1.50 R HOUR	\$1.00	\$1.50	4C
112 497 DUMP TRUCK - 1 TON-PER HOUR	1.50	\$7.10	\$10.65	4C
127 497 AIR COMPRESSOR-PER HOUR	1.50	\$6.60	\$9.90	4C
	201	LABOR: MATERIAL: of MATL: QUIPMENT:	\$48.09 \$.00 \$.00 \$22.05) }
		TOTAL:	\$70 . 1	.4
·				
Contractor's Rep. Date	CBT Inspec	tor	Date	

TICKET: 2140 WORKED: 09/21/95 page 1

Date Worked: [09/23/95] Ticket No.: Location: [WEAVER ALLEY 954205B] Contractor: [J.DANIEL & CO., INC.] R. Estimate Number: [M5440B] Field Contractor's Rep.: [ER] CBT Inspect Date Submitted: [09/25/95] Date Approved	NW C.# [05030 Codes: [40 or: [RMH]] Ar] Ba: [70000]	
Description of Work: [1/2 PREMIUM TIME]]	
LABOR				
TTEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
LO2 497 LABORER-PER HOUR No. of Emp.: 2 Names: K.ERNST & B.WHIT.	8.00 AKER	\$16.03	\$128.24	4C
		LABOR:	\$128.24	
		MATERIAL:	\$.00	
		of MATL: QUIPMENT:	\$.00 \$.00	
		TOTAL:	\$128.2	4
Contractor's Rep. Date	CBT Inspec	tor	Date	_

Date Worked: [10/19/95] Ticket No.: Location: [WEAVER ALLEY 954205] Contractor: [J.DANIEL & CO., INC.] R Estimate Number: [M5440B] Field Contractor's Rep.: [ER] CBT Inspect Date Submitted: [10/20/95] Date Approved Description of Work: [REMOVE & STACK BRICK	BNW .C.# [05030 Codes: [45 tor: [RMH] d: [10/28/9	000] R] Arc] ea: [70000]	
)	
LABOR				
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
102 497 LABORER-PER HOUR	6.00	\$16.03	\$96.18	45R
No. of Emp.: 2 Names: K.ERNST & B.WHI	TAKER			
EQUIPME				
C' EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
112 497 DUMP TRUCK - 1 TON-PER HOUR	3.00	\$7.10	\$21.30	45R
127 497 AIR COMPRESSOR-PER HOUR	3.00	\$6.60	\$19.80	45 R
		LABOR: MATERIAL:	\$96.18 \$.00	
		of MATL:	\$.00 \$.00	
	E	QUIPMENT:	\$41.10	
		TOTAL:	\$137.2	28
Contractor's Rep. Date	CBT Inspec	tor	Date	_

TICKET: 2336 WORKED: 10/19/95 page 1

Date Worked: [10/21/95] Ticket No. Location: [WEAVER ALLEY 95420 Contractor: [J.DANIEL & CO., INC.] I Estimate Number: [M5440B] Field Contractor's Rep.: [ER] CBT Inspector Submitted: [10/23/95] Date Approved Description of Work: [REMOVE BRICK & BASIS [TIME - 10:30-3:30 1/2 PREMIUM TIME]	05BNW R.C.# [05030 d Codes: [40 ctor: [RMH] ed: [10/28/9	0000] :] Arc		
TAROB				
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS		TOTAL	FIELD CODE
102 497 LABORER-PER HOUR No. of Emp.: 2 Names: K.ERNST & K.MO	12.50 LEN	\$16.03	\$200.38	4C
ITEM CC EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
112 497 DUMP TRUCK - 1 TON-PER HOUR	2.50	\$7.10	\$17.75	4C
127 497 AIR COMPRESSOR-PER HOUR	2.50	\$6.60	\$16.50	4C
		LABOR:	\$200.38	
	20%	MATERIAL: of MATL: QUIPMENT:)
		TOTAL:	\$234.6	53
Contractor's Rep. Date	CBT Inspec	tor	Date	

TICKET:

2343 WORKED: 10/21/95

Date Worked: [11/04/95] Ticket No.: Location: [WEAVER ALLEY 954205B Contractor: [J.DANIEL & CO., INC.] R. Estimate Number: [M5440B] Field Contractor's Rep.: [ER] CBT Inspect Date Submitted: [11/06/95] Date Approved Description of Work: [REPLACE BRICK ALLEY [NW C.# [05030 Codes: [45 or: [RMH] : [11/07/9	0000] R] Are		
LABOR				
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
102 497 LABORER-PER HOUR No. of Emp.: 2 Names: K.ERNST & K.MOLE		\$16.03	\$264.50	45R
EQUIPMEN				
ITEM CC EXTC UNIT OF MEAS.	NO. OF	UNIT PRICE	TOTAL	FIELD CODE
112 497 DUMP TRUCK - 1 TON-PER HOUR	5.50	\$7.10	\$39.05	45R
113 497 DUMP TRUCK - 1.5 TON OR GREATER-PER HOUR	5.50	\$9.00	\$49.50	45R
127 497 AIR COMPRESSOR-PER HOUR	5.50	\$6.60	\$36.30	45R
	20%	LABOR: MATERIAL: of MATL: QUIPMENT:	\$264.50 \$.00 \$.00 \$124.85) }
		TOTAL:	\$389.3	15
Contractor's Rep. Date	CBT Inspec	tor	Date	_

TICKET: 2417 WORKED: 11/04/95 page 1

Date Worked: [11/15/95] Ticket No.: [24791 Location: (WEAVER ALLEY 954205BNW } Contractor: [J.DANIEL & CO., INC.] R.C.# [05030000] Estimate Number: [M5440B Ì Field Codes: [4C] Area: [70000] Contractor's Rep.: [ER] CBT Inspector: [RMH] Date Submitted: [11/15/95] Date Approved: [11/15/95] Description of Work: [HOBBS CONCRETE - MINI MIX WAS ONLY WAY TO MAKE POUR]] MATERIAL NO. OF UNIT FIELD EXTC UNIT OF MEAS. UNITS PRICE CODE TOTAL 523 1.00 \$115.00 \$115.00 HOBBS - CLASS C CONCRETE 1.00 \$2.00 \$2.00 4C 523 HOBBS- 1% CALCIUM \$30.00 523 1.00 \$30,00 4C HOLLS- TRUCK TIME LABOR: \$.00 MATERIAL: \$147.00 20% of MATL: \$29.40 **EQUIPMENT:** \$.00 TOTAL: \$176,40 Date Contractor's Rep. Date CBT Inspector

TICKET:

2479 WORKED: 11/15/95

Location: [GARFIELD PLACE #120 96 Contractor: [J.DANIEL & CO., INC.] Estimate Number: [M5440B] Fi Contractor's Rep.: [BW] CBT Ins Date Submitted: [11/17/95] Date Appr Description of Work: [ATTEMPT TO FIND	R.C.# [05060 eld Codes: [50 pector: [WW] oved: [11/20/9] Arc 5]] sa: [70000] NOT IN]]	
LABO	R			
TTEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
Ol 497 EQUIPMENT OPERATOR-PER HOUR No. of Emp.: 1 Names: L.COLLINS	1.00	\$22.24	\$22.24	5C
.02 497 .ABORER-PER HOUR . of Emp.: 1 Names: J.KNUCKLES	1.00	\$16.03	\$16.03	5C
EQUI	PMENT			
TEM CODE EXTC UNIT OF MEAS.	NO. OF Units	UNIT PRICE	TOTAL	FIELD CODE
.11 497 PICKUP TRUCK (OTHER THAN SUPERVISOR'S)	1.00 -PER HOUR	\$1.00	\$1.00	5C
.14 497 RUCK EQUIPPED WITH WINCH-PER HOUR	1.00	\$6.96	\$6.96	5C
		LABOR:	\$38.27 \$.00	
	20%	MATERIAL: of MATL: QUIPMENT:	\$.00 \$.00 \$7.96)
		TOTAL:	\$46.2	23
•				
Contractor's Rep. Date	CBT Inspec		Date	_

TICKET: 2486 WORKED: 11/16/95 page 1

Date Worked: [11/17/95] Ticket No.: Location: [120 GARFIELD PLACE 961459 Contractor: [J.DANIEL & CO., INC.] R. Estimate Number: [M5440B] Field Contractor's Rep.: [BW] CBT Inspect Date Submitted: [11/20/95] Date Approved Description of Work: [AM RESTRICTED] [BNW C.# [05060 Codes: [50 or: [WW]	0000] Ar] ea: [70000]]]	
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
101 497 EQUIPMENT OPERATOR-PER HOUR No. of Emp.: 1 Names: L.COLLINS	1.50	\$22.24	\$33.36	5C
102 497 LABORER-PER HOUR No of Emp.: 1 Names: J.KNUCKLES	1.50	\$16.03	\$24.05	5 C
EQUIPMEN	Т			
CODE EXTC UNIT OF MEAS.	NO. OF UNITS		TOTAL	FIELD CODE
111 497 PICKUP TRUCK (OTHER THAN SUPERVISOR'S)-PER	1,50 HOUR	\$1.00	\$1.50	5C
114 497 TRUCK EQUIPPED WITH WINCH-PER HOUR	1.50	\$6.96	\$10.44	5C
118 497 CABLE REEL TRAILER-PER HOUR	1.50	\$2.19	\$3.29	5C
<u> </u>		LABOR:	\$57.41	
		MATERIAL:	\$.00	
		of MATL: QUIPMENT:	\$.00 \$15.23	
		TOTAL:	\$72.6	4

	· · · · · · · · · · · · · · · · · · ·		
Contractor's Rep.	Date	CBT Inspector	Date

Date Worked: [11/29/95] Ticket No.: Location: [120 GARFIELD PLACE 961459] Contractor: [J.DANIEL & CO., INC.] R Estimate Number: [M5440B] Field Contractor's Rep.: [BW] CBT Inspect Date Submitted: [11/30/95] Date Approved Description of Work: [AM RESTRICTED & PICE	BNW .C.# [05060 Codes: [50 tor: [WW] d: [11/30/9	000] Arc] ea: [70000] L GARAGE]]]	
LABOR				
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD
101 497 EQUIPMENT OPERATOR-PER HOUR No. of Emp.: 1 Names: L.COLLINS	1.50	\$22.24	\$33.36	5C
102 497 LABORER-PER HOUR No of Emp.: 1 Names: J.KNUCKLES	1.50	\$16.03	\$24.05	5C
EQUIPME)	NT			
CODE EXTC UNIT OF MEAS.	NO. OF UNITS		TOTAL	FIELD
111 497 PICKUP TRUCK (OTHER THAN SUPERVISOR'S)-PE	150 R HOUR	\$1.00	\$1.50	5C
114 497 TRUCK EQUIPPED WITH WINCH-PER HOUR	1.50	\$6.96	\$10.44	5 C
118 497 CABLE REEL TRAILER-PER HOUR	1.50	\$2.19	\$3.29	5 C
		LABOR:	\$57.41	
		MATERIAL:	\$.00)
		of MATL: QUIPMENT:	\$.00 \$15.23	
,		TOTAL:	\$72.6	54

	<u> </u>		
Contractor's Rep.	Date	CBT Inspector	Date

TICKET: 2543 WORKED: 11/29/95

Date Worked: [01/16/96] Ticket Location: [ELKINS ALLEY OFF RACE 96 Contractor: [J.DANIEL & CO., INC.] Estimate Number: [M5440B] F Contractor's Rep.: [ER] CBT In: Date Submitted: [01/17/96] Date App. Description of Work: [HOLD UP ON LOCATION LOCATI	61893BNW R.C.# [05030 ield Codes: [5C spector: [RMH] roved: [01/19/9	000] Ar] ea: [70000]	
			1	
LAB	OR .			
ITEM CODE EXTC UNIT OF MEAS.	NO, OF	UNIT PRICE	TOTAL	FIELD CODE
102 497 LABORER-PER HOUR	7,00	\$16.03	\$112.21	5C
No. of Emp.: 2 Names: D.WHITT & B	.WHITAKER			
ITEM CC ' EXTC UNIT OF MEAS.	I PMENT NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
111 497 PICKUP TRUCK (OTHER THAN SUPERVISOR'S	3.50)-PER HOUR	\$1.00	\$3.50	5 C
112 497 DUMP TRUCK - 1 TON-PER HOUR	3,50	\$7.10	\$24.85	5 C
127 497 AIR COMPRESSOR-PER HOUR	3.50	\$6.60	\$23.10	5 C
	20%	LABOR: MATERIAL: of MATL: QUIPMENT:	\$112.21 \$.00 \$.00 \$51.45))
		TOTAL:		
Contractor's Rep. Date	CBT Inspec	tor	Date	

TICKET:

2786 WORKED: 01/16/96

Date Worked: [01/22/96] Ticket No.: Location: [ELKINS ALLEY 961893BNW Contractor: [J.DANIEL & CO., INC.] R.G Estimate Number: [M5440B] Field G Contractor's Rep.: [ER] CBT Inspect Date Submitted: [01/23/96] Date Approved Description of Work: [REMOVED BRICK FROM AG [C.# [05030 Codes: {4R or: {RMH] : [01/30/9	000] Are] aa: [700 00]]]	
LABOR	<u> </u>			
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS		TOTAL	FIELD CODE
102 497 LABORER-PER HOUR No. of Emp.: 2 Names: D.WHITT & M.ALLE	4.00 N	\$16.03	\$64.12	4R
EQUIPMEN'				
ITEM C' EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
111 497 PICKUP TRUCK (OTHER THAN SUPERVISOR'S)-PER	2.00 HOUR	\$1.00	\$2.00	4R
112 497 DUMP TRUCK - 1 TON-PER HOUR	2.00	\$7.10	\$14.20	4R
127 497 AIR COMPRESSOR-PER HOUR	2.00	\$6.60	\$13.20	4R
	LABOR: MATERIAL: 20% of MATL: EQUIPMENT:		\$64.12 \$.00 \$.00 \$29.40	
		TOTAL:	\$93.5	2
Contractor's Rep. Date	CBT Inspec	tor	Date	_

TICKET: 2815 WORKED: 01/22/96 page 1

Date Worked: [01/24/96] Ticket Not Location: [ELKINS ALLEY 961893] Contractor: [J.DANIEL & CO., INC.] Estimate Number: [M5440B] Fig Contractor's Rep.: [ER] CBT Insp Date Submitted: [01/25/96] Date Approximate Description of Work: [REMOVE BRICK FROM [BBNW R.C.# [05030 ald Codes: [4R pector: [RMH] oved: [01/31/9	Are) ва: [70000]	
<u> </u>			i	
LABOR				
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
102 497 LABORER-PER HOUR No. of Emp.: 2 Names: D.WHITT & M.A	3.00	\$16.03	\$48.09	4R
·				
ITEM GO' EXTC UNIT OF MEAS.	PMENT NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
111 497 PICKUP TRUCK (OTHER THAN SUPERVISOR'S)-	1.50 PER HOUR	\$1.00	\$1.50	4R
112 497 DUMP TRUCK - 1 TON-PER HOUR	1.50	\$7.10	\$10.65	4R
127 497 AIR COMPRESSOR-PER HOUR	1.50	\$6.60	\$9.90	4R
	20 %	\$48.09 \$.00 \$.00 \$22.05		
	TOTAL:		\$70.1	.4

TICKET: 2827 WORKED: 01/24/96 page 1

Location: [ELKINS ALLEY OFF RACE Contractor: [J.DANIEL & CO., INC.] Estimate Number: [M5440B] F Contractor's Rep.: [ER] CBT In Date Submitted: [04/12/96] Date App Description of Work: [PLACED TAMPMIX [R.C.# [05060 ield Codes: [4R spector: [PDK] roved: [04/15/9	000] Arc 6} UP ON INSP] ea: [70000] ECTION]]	
LAB	OR			
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
102 497 LABORER-PER HOUR No. of Emp.: 3 Names: D.WHITT, M.		\$16.03	\$264.50	4 R
•	IPMENT			
ITEM OF MEAS.	NO. OF Units		TOTAL	FIELD CODE
L11 497 PICKUP TRUCK (OTHER THAN SUPERVISOR'S	5.50)-PER HOUR	\$1.00	\$5.50	4R
112 497 DUMP TRUCK - 1 TON-PER HOUR	5.50	\$7.10	\$39.05	4R
127 497 AIR COMPRESSOR-PER HOUR	5.50	\$6.60	\$36.30	4R
		LABOR:	\$264.50	
		MATERIAL: of MATL:	\$.00 \$.00	
		QUIPMENT:	\$80.85	
		TOTAL:	\$345.3	5
_ ·				
Contractor's Rep. Date	CBT Inspec	tor	Date	_

3323 WORKED: 04/11/96

TICKET:

ESTIMATED	C0575				(11.43)
GROSS ADDITIONS	9.750	DISTRICT NORTHWEST	GENTER WEST SEVENTH	OL 1 TOIRTSIO	n NO.M-544Ø-8 PI
COST OF REMOVAL		ENGR'O DAVID A. KRAHER	NO. 344-7843	WAN MEGNINED HO C	SHEET 1 of 2
GROSS EXPENDITURES	9.750	BY BO TRUTSCHEL	NO. 344-7105	PRIVATE PUBLIC CITY OF CINC	INNATI .VEDDA
PLANT		HEVISED	WEAVER ALLEY	100210 0111 0 01110	PRIORITY NO.
SALVAGE		רטאור	DUIT [NSTALLAT]	T O NI	COMPLETION DATE
ASSOCIATED MAINTENANCE	•••	COINE	JOIT INSTRUCTION	LOIA	OCTOBER I. 1995
FOCUSEO REHAS.					7-25-95
BILLING		05 384 NQ.	DS 395 NO.	AIR PIPE	CABLE CONO
ESTIMATED H	ANHOURS	1	TEM NO. ITEM NO.	RT	ek i
AERIAL PLACING		SERVICE GROER NO.	OUE DATE	SH	PG 25
AERIAL REMOVAL		CONST. BUDGET X	APPROVED		DATE
SPLICING		GROWTH			
CONTRACTOR	306	HODERNIZATION	APPROVED		DATE
U.G. PLACING		REPLACEMENT	_		
U.G. REMOVAL		CORP. EFFECTENCY	APPROVED		DATE
GROPS		NEW REVENUE GEN.	-		}
QTHER		PUBLIC MANDATE			

NOTE: COORDINATE PROPOSED WORK WITH CITY OF CINCINNATI STREETSCAPE PROJECT.

CITY ENGINEER - STEVE GRESSEL: 352-5281 CITY INSPECTOR - PAT TANFANI: 352-3422 CONTRACTOR - WISE CONSTRUCTION

No Manholes 1100' "C" Conduit 358' Trenching

SEE SHEET NO. 2 FOR DETAILS

	MATERIAL,			PLEASE NO		RECORDS USE ONLY			
	OATE ORDERED		REG. NO.		SET IS NE	EDEO TY	CA 0 PL 0 CO 0 AP	9	
	1100'	4*	P.C. 'C	' CONDUIT	r			PLATTED BY: CHECKED BY:	
	5 •	3,	RADIUS	90 BENOS			CABLE T	RANSFER INFORMATION	
	10	4'	RADIUS	90 BENDS		.0. CIM	CONFE	TES NO ECTED YES NO SYAL METHOD ROVAL RECEIVED DN RMATION OS 822 TO FOLL MINATE) 0w1
						14	SOLELY FO EED TO KNOW OR AUTHORIZE METURN TO	ONE COMMITY - PROPRIETARY (NE R AUTHORIZED PERSONS HAVING FURBANNY TO COMMINY INSTRUCT B USE ONLY - NO FURTHER DISC.C CINCTHANTI BELL TELEPHONE Y IN A CONTIDENTIAL MANNER	n Ions Bure
WORK	COMPLETED BY		DATE	VORK	COMPLETED BY	DATE	WORK	COMPLETED BY	DATE
LINE				CABLE			CONDUIT		

Date Worked: [09/07/95] - [09 Location: [WEAVER ALLEY & RAC Contractor: [J. DANIEL & CO., Estimate Number: [M5440B Contractor's Employees: [K.ER [B.WH [D.LO Contractor's Rep.: [ER]] Date Submitted: [09/15/95]	E(PARTIAL)9542 INC] R.C] Field C NST ITAKER CKHARD	05BNW .# [05030000 odes: [4C] [T.CONST] [D.WHITT] [S.PIERS	[] EXTC] Are ABLE ON	9206] : [497] a: [70000]]]
ITEM NO.	UNIT OF MEASURE	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
204B 14.00 X 3.00 X 3. DESC: EXCAVATING BY HAND-ADDRESS:				\$514.5	0 4C
204B 22.00 X 3.00 X 5.1 DESC: EXCAVATING BY HAND-S DDRESS:				\$1,270.50	0 4C
205 36.00 X 3.00 X DESC: ROCK EXCAVATION-PER ADDRESS:		1.00	\$2.40	\$129.6	0 46
205 4.00 % 3.00 % 3.0 DESC: ROCK EXCAVATION-PER ADDRESS:		.1.00	\$2.40	\$86.4	0 4C
600 1.00 X 1.00 X 1.0 DESC: PLACING CONDUIT ALL ADDRESS:					4 4C
837 7.83 X 27.00 X 1.0 DESC: FLASH FILL (COAL ASSADDRESS:					6 4C
803A 32.00 X 6.50 X 1.0 DESC: ASPHALT PAVEMENT-W/O ADDRESS:			•		
803A 4.00 X 3.50 X 1.0 DESC: ASPHALT PAVEMENT-W/O ADDRESS:					

TICKET:

9206 WORKED: 09/07/95

Number of Items:	8	Total Price:	\$3,718.70
Contractor's Rep.	Date	CBT Inspector	Date

Date Worked: [09/18/95] - [09/2 Location: [WEAVER ALLEY (PARTIA Contractor: [J. DANIEL & CO., I Estimate Number: [M5440B] Contractor's Employees: [K.ERNS [B.WHIT [D.WHIT Contractor's Rep.: [ER]] Date Submitted: [09/30/95] Da	L) 954205BN [NC] R.C. Field Co ST [AKER] T CBT Inspector	W # [05030000 des: [4C] [K.MOLEN] [] [:: [RMH]] EXTC:] [497] : [70000]
ITEM NO.				FIELD TOTAL CODE
204A 15.00 X 3.00 X 3.00 DESC: EXCAVATING BY HAND-PE ADDRESS:		1.00	\$3.30	\$445.50 40
204A 3.00 X 3.00 X 3.00 DESC: EXCAVATING BY HAND-PE ADDRESS:		1.00	\$3.30	\$89.10 4C
603B 1.00 X 1.00 X 1.00 DESC: REPAIR OCCUPIED CONDU		28.00	\$6.45	\$180.60 4C
204B 20.00 X 2.00 X 2.00 DESC: EXCAVATING BY HAND-SP ADDRESS:				\$280.00 4C
204B 8.00 X 3.00 X 3.00 DESC: EXCAVATING BY HAND-SP ADDRESS:				\$252.00 40
600 1.00 X 1.00 X 1.00 DESC: PLACING CONDUIT ALL SADDRESS:				\$15.12 4C
204A 50.00 X 2.00 X 2.00 DESC: EXCAVATING BY HAND-PE ADDRESS:			\$3.30	\$660.00 40
600 1.00 X 1.00 X 1.00 DESC: PLACING CONDUIT ALL SADDRESS:				\$27.00 4C
2. 5.00 X 6.00 X 3.00	90.00CF	1.00	\$3.50	\$315.00 4C
TICKET: 9358 WC	ORKED: 09/18/9)5 p	age 1	

	DESC: EXCAVATING BY HAND-SPEC BACKFILL-PER CUBIC FOOT ADDRESS:	
	1.00 X 1.00 X 1.00- 1.00FT 15.00 \$4.60 DESC: REMOVAL OF CONCRETE ENCASEMENT FROM AROUND CONDUIT-PER ADDRESS:	
	. 6.00 X 6.00 X 5.00= 180.00CF 1.00 \$3.30 DESC: EXCAVATING BY HAND-PER CUBIC FOOT ADDRESS:	\$594.00 4C
	5.00 X 2.50 X 3.00- 37.50CF 1.00 \$3.30 DESC: EXCAVATING BY HAND-PER CUBIC FOOT ADDRESS:	\$123.75 40
	1.00 X 1.00 X 1.00- 1.00FT 69.00 \$.18 DESC: PLACING CONDUIT ALL SIZES & TYPES IN TRENCH-PER FOOT ADDRESS:	
	6.00 X 5.00 X 2.00- 60.00CF 1.00 \$3.50 DESC: EXCAVATING BY HAND-SPEC BACKFILL-PER CUBIC FOOT ADDRESS:	\$210.00 40
	8.00 X 3.00 X 3.00- 72.00CF 1.00 \$3.50 DESC: EXCAVATING BY HAND-SPEC BACKFILL-PER CUBIC FOOT ADDRESS:	\$252.00 40
	1.00 X 1.00 X 1.00- 1.00FT 45.00 \$.18 DESC: PLACING CONDUIT ALL SIZES & TYPES IN TRENCH-PER FOOT ADDRESS:	\$8.10 40
	6.00 X 5.00 X 4.00- 120.00CF 1.00 \$.70 DESC: BANKRUN GRAVEL BACKFILL-PER CUBIC FOOT ADDRESS:	\$84.00 40
	8.00 X 3.00 X 2.50- 60.00CF 1.00 \$.70 DESC: BANKRUN GRAVEL BACKFILL-PER CUBIC FOOT ADDRESS:	\$42.00 40
	7.00 X 5.00 X 1.00- 35.00SF 3.00 \$2.00 DESC: TEMPORARY RESTORATION OF ALL SURFACES-PER SQUARE FOOT ADDRESS:	\$210.00 40
	8.00 X 3.50 X 1.00- 28.00SF 3.00 \$2.00 DESC: TEMPORARY RESTORATION OF ALL SURFACES-PER SQUARE FOOT ADDRESS:	\$168.00 40
204B	6.00 X 2.00 X 2.00- 24,00CF 1.00 \$3.50	\$84.00~40

9358 WORKED: 09/18/95 page 2

TICKET:

	-		
DESC: EXCAVATING BY HAND-SPEC BACKFILL-PER ADDRESS:	CUBIC 1	FOOT	
204B 4.00 X 3.00 X 2.00- 24.00CF DESC: EXCAVATING BY HAND-SPEC BACKFILL-PER ADDRESS:			\$84.00 4C
205 6.00 X 2.00 X 2.00- 24.00CF DESC: ROCK EXCAVATION-PER CUBIC FOOT ADDRESS:	1.00	\$2.40	\$57.60 4C
600 1.00 X 1.00 X 1.00- 1.00FT DESC: PLACING CONDUIT ALL SIZES & TYPES IN ADDRESS:			\$3.24 4C
204A 45.00 X 2.00 X 2.00- 180.00CF DESC: EXCAVATING BY HAND-PER CUBIC FOOT ADDRESS:	1.00	\$3.30	\$594.00 4C
6C 1.00 X 1.00 X 1.00- 1.00FT 1 DESC: PLACING CONDUIT ALL SIZES & TYPES IN ADDRESS:			\$24.30 4C
204A 13.00 X 3.00 X 4.00- 156.00CF DESC: EXCAVATING BY HAND-PER CUBIC FOOT ADDRESS:	1.00	\$3.30	\$514.80 4C
204A 10.00 X 2.00 X 3.00- 60.00CF DESC: EXCAVATING BY HAND-PER CUBIC FOOT ADDRESS:	1.00	\$3.30	\$198.00 4C
834 8.00 X 3.00 X 2.50- 60.00CF DESC: CONCRETE BACKFILL-2500 PSI-1/4" TO 3 ADDRESS:			
205 3.00 X 2.00 X 3.00- 18.00CF DESC: ROCK EXCAVATION-PER CUBIC FOOT ADDRESS:	1.00	\$2.40	\$43.20 40
204A 20.00 X 2.00 X 2.00- 80.00CF DESC: EXCAVATING BY HAND-PER CUBIC FOOT ADDRESS:	1.00	\$3.30	\$264.00 4C
204A 10.00 X 3.00 X 3.00- 90.00CF PESC: EXCAVATING BY HAND-PER CUBIC FOOT ADDRESS:	1.00	\$3.30	\$297.00 4C
205 4.00 X 2.00 X 3.00- 24.00CF	1.00	\$2.40	\$57.60 4C
TICKET: 9358 WORKED: 09/18/95		page 3	

	DESC: ROCK ADDRESS:	EXCAVATION	-PER CUE	SIC FOOT			
600	1.00 X DESC: PLACI ADDRESS:						\$15.48 40
204,	A 17.00 X DESC: EXCAV ADDRESS:					\$3.30	\$336.60 40
204.	A 7,00 X DESC: EXCAV ADDRESS:					\$3.30	\$282.98 40
	7.00 X DESC: ROCK ADDRESS:				1.00	\$2.40	\$117.60 40
	1.00 X DESC: PLACI ADDRESS:						\$12.96 40
	7.00 X DESC: TEMPO ADDRESS:					•	•
	3 10.00 X DESC: EXCAV ADDRESS:						\$315.00 4
	A 15.00 X DESC: EXCAV ADDRESS:					\$3.30	\$445.50 4
:05	10.00 X DESC: ROCK ADDRESS:				1.00	\$2.40	\$216.00 4
50 0	1.00 X DESC: PLACE ADDRESS:						\$13.50 4
.0 <i>i</i>	10.00 X DESC: EXCAV ADDRESS:				1.00	\$3.30	\$165.00 4
204	8 40.00 X	2.00 X	2.00-	160.00CF	1.00	\$3.50	\$560.00 4

TICKET:

9358 WORKED: 09/18/95

page 4

Thu May 16 1996_13:24:47

_	ractor's Rep.	Date	CBT In	spector	Date
	Number of Items:	47	Total	Price:	\$9,343.25
600	1.00 X 1.00 X DESC: PLACING CONDU ADDRESS:		135.00 IN TRENCH-	\$.18 PER FOOT	\$24.30 4C
205	40.00 X 1.00 X DESC: ROCK EXCAVATION ADDRESS:		1.00	\$2.40	\$96.00 4C
	DESC: EXCAVATING BY ADDRESS:	HAND-SPEC BACKFILL-	PER CUBIC F	TOC	

TICKET:

9358 WORKED: 09/18/95

Date Worked: [10/19/95] - [10/21 Location: [WEAVER ALLEY (PARTIA Contractor: [J. DANIEL & CO., IN Estimate Number: [M5440B] Contractor's Employees: [K.ERNST [B.WHITA	L) 954205BN C] R.C. Field Co	W # [05030000	l EXTC:] [497]	
Contractor's Rep.: [ER] Contra	BT Inspector			,	
ITEM NO.	UNIT OF MEASURE	NO. OF UNITS		TOTAL	FIELD CODE
204B 8.00 X 3.50 X 3.50— DESC: EXCAVATING BY HAND-SPE ADDRESS:				\$343.00	4C
600 1.00 X 1.00 X 1.00- DESC: PLACING CONDUIT ALL SI 'DDRESS:				\$2.88	4C
204B 9.00 X 3.50 X 3.50+ DESC: EXCAVATING BY HAND-SPE ADDRESS:			-	\$385.88	4C
Number of Items: 3		Total	Price:	\$731	.76
Contractor's Rep.	Date	CBT Ins	pector	Date	

Date Worked: [11/02/95] - Location: [WEAVER ALLEY (PACONTRACTOR: [J. DANIEL & COEstimate Number: [M5440B] Contractor's Employees: [K] [B] [K] Contractor's Rep.: [ER] Date Submitted: [11/13/95]	D., INC] R.C] Field C .ERNST .LANCE .MOLEN	.# [05030000 odes: [4C] [] [[9	739] [497] : [70000]]]	
ITEM NO.	UNIT OF MEASURE	NO. OF UNITS	UNIT PRICE	F TOTAL	TELD CODE
204A 3.00 X 3.00 X DESC: EXCAVATING BY HAI ADDRESS:			\$3.30	\$59.40	4C
600 1.00 X 1.00 X DESC: PLACING CONDUIT A				\$5.40	4C
832 7.00 X 3.00 X DESC: BANKRUN GRAVEL BA ADDRESS:			\$.70	\$44.10	4C
832 8.00 X 4.00 X DESC: BANKRUN GRAVEL BA			\$.70	\$78.40	4C
204A 8,00 X 3,00 X DESC: EXCAVATING BY HAP ADDRESS:			\$3.30	\$316.80	4C
Number of Items: 5		Total	Price:	\$504.	10
Contractor's Rep.	Date	CBT Ins	pector	Date	

TICKET: 9739 WORKED: 11/02/95

Date Worked: [11/16/95] - [11/21/Location: [120 GARFIELD PLACE Contractor: [J. DANIEL & CO., INCESTIMATE Number: [M5440B] Contractor's Employees: [L.COLLIN [J.KNUCKI	961459B C] R. Field IS	NW C.# [05060000 Codes: [5G]	} EXTC:] [497]	
Contractor's Rep.: [BW] CE Date Submitted: [11/28/95] Date	T Inspect Approved	or: [WW] : [12/05/95]		1	
ITEM NO.	UNIT OF MEASURE	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
320B 1.00 X 1.00 X 1.00- DESC: PLACING COPPER CA. IN C ADDRESS:					5C
631 1.00 X 1.00 X 1.00— DESC: PLACING PULL WIRE IN EX 'DDRESS:					5 C
632 1.00 X 1.00 X 1.00- DESC: PLACING PULL WIRE IN EXADDRESS:				\$299.20	5C
633 1.00 X 1.00 X 1.00 DESC: PLACING PULL WIRE IN EXADDRESS:				\$82.00	5C
Number of Items: 4		Total I	rice;	\$1,403	.84
Contractor's Rep.	ate	CBT Ins	pector	Date	

TICKET: 9869 WORKED: 11/16/95 page 1

CONTRACTOR BILLING UNIT PROPOSAL

Date Worked: [11/15/95] - [11 Location: [WEAVER ALLEY (PART Contractor: [J. DANIEL & CO., Estimate Number: [M5440B Contractor's Employees: [D.WH [B.WH [Contractor's Rep.: [ER]] Date Submitted: [11/28/95]	IAL) 954205BNW INC] R.C.] Field Co ITT ITAKER CBT Inspector	 #	EXTC:] [4 97]	
ITEM NO.		NO. OF UNITS			FIELD CODE
752 7.00 X 4.00 X 1. DESC: CONSTRUCTING CONCRETADDRESS:					4C
754 1.00 X 1.00 X 1.0 DESC: PLACING PAD MOUNTED ADDRESS:					
Number of Items: 2		Total	Price:	\$695	. 60
Contractor's Rep	Date	CBT Ins	pector	Date	 -

TICKET: 9881 WORKED: 11/15/95 page 1

CONTRACTOR BILLING UNIT PROPOSAL

Date Worked: [11/29/95] - [Location: [120 GARFIELD PLACE Contractor: [J. DANIEL & CO., INC Estimate Number: [M5440B] Contractor's Employees: [L.COLLIN [J.KNUCKI	961459BN ;} R.C Field C	W .# [05060000] EXTC:] [4 9 7]	
Contractor's Rep.: [BW] CB Date Submitted: [11/30/95] Date	T Inspecto Approved:	r: [WW] [11/30/95]			
ITEM NO.		NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
632 1.00 X 1.00 X 1.00- DESC: PLACING PULL WIRE IN EX ADDRESS:				\$127.60) 5C
350A 1.00 X 1.00 X 1.00- DESC: RMVNG U.G. COPPER CA. F DDRESS:					
320A 1.00 X 1.00 X 1.00- DESC: PLACING COPPER CA./AIRP ADDRESS:			•		
Number of Items: 3		Total 1	Price:	\$606	5.36
Contractor's Rep. D	ate	CBT Insp	ector	Date	

CONTRACTOR BILLING UNIT PROPOSAL

Date Worked: [01/16/96] - [01/25/9] Location: [ELKINS ALLEY (PARTIAL) Contractor: [J. DANIEL & CO., INC Estimate Number: [M5440B] Contractor's Employees: [D.WHITT	EK j	ĺ	102] EXTC: Area:	77] 497] 70000] 	
ITEM NO.	UNIT OF MEASURE	NO. OF UNITS	UNIT PRICE	TOTAL	CODE
204B 4.00 X 4.00 X 2.50= DESG: EXCAVATING BY HAND-SPEC ADDRESS:				\$140.00	5C .
204B 3.00 X 2.00 X 3.00- DESC: EXCAVATING BY HAND-SPEC \DDRESS:				\$63.00	5C
204B 5.00 X 2.50 X 3.00- DESC: EXCAVATING BY HAND-SPEC ADDRESS:				\$131.25	5C
605 1.00 X 1.00 X 1.00- DESC: REMOVAL OF CONCRETE ENCA ADDRESS:			•	•	5C
204B 4.00 X 2.50 X 3.00= DESC: EXCAVATING BY HAND-SPEC ADDRESS:				\$105.00	5C
605 1.00 X 1.00 X 1.00- DESC: REMOVAL OF CONCRETE ENCA ADDRESS:					5¢
603B 1.00 X 1.00 X 1.00- DESC: REPAIR OCCUPIED CONDUIT ADDRESS:		22.00	\$6.45	\$141.90	5C
320A 1.00 X 1.00 X 1.00- DESG: PLACING COPPER CA./AIRP: ADDRESS:					
3. 1.00 X 1.00 X 1.00- TICKET: 10277 WORK				\$84.00	5C

CONTRACTOR BILLING UNIT PROPOSAL

	DESC: PLACIN ADDRESS:	G COPPER C	A. ON B	LDNG WALLS	W/CA. CLAM	PS-PER LINE	AR FOOT
	4.00 X DESC: BANKRU ADDRESS:					\$.70	\$16.80 5
	3.00 X DESC: BANKRU ADDRESS:					\$.70	\$8.40 5
	5.00 X DESC: BANKRU ADDRESS:					\$.70	\$17.50 5
	4.00 X DESC: TEMPOR ADDRESS:						\$192.00 5
	3.00 X NESC: TEMPOR ADDRESS:					•	\$72.00 5
	5.00 X DESC: TEMPOR ADDRESS:						\$150.00 5
204	B 6.50 X DESC: EXCAVA ADDRESS:					-	\$238.88 5
605	1.00 X DESC: REMOVA ADDRESS:					•	*
	B 4.50 X DESC: EXCAVA ADDRESS:						\$141.75 5
605	1.00 X DESC: REMOVA ADDRESS:						
	A 1.00 X DESC: PLACIN ADDRESS:						
204	B 4.50 X	2.50 X	2.50-	28.13CF	1.00	\$3.50	\$98.46-5

10277 WORKED: 01/16/96

TICKET;

CONTRACTOR BILLING UNIT PROPOSAL

		's Ren			Date		nspector	Date
	Number	of Item	is:	24		Tota	il Price:	\$2,006.80
633		LACING			- 1.00FT EXIST OCCUP		\$.25 ER FOOT	\$31.25 5C
605		EMOVAL					\$4.60 CONDUIT-PER	\$36.80 5C FOOT
204		XCAVATI			= 33.75GF EC BACKFILL		•	\$118.13 5C
	DESC: E		ING BY	HAND-SP	EC BACKFILL	-PER CUBIC	FOOT	

CONTRACTOR BILLING UNIT PROPOSAL

Date Worked: [04/11/96] - [Location: [ELKINS ALLEY (PARTIA Contractor: [J. DANIEL & CO., I Estimate Number: [M5440B] Contractor's Employees: [D.WHIT [M.ALLE [C.ASH Contractor's Rep.: [ER] Date Submitted: [04/26/96] Da	Y CBT Inspecto] [] [] [r: [PDK]		423] 497] : [70000] 	
ITEM NO.	UNIT OF MEASURE	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
350A 1.00 X 1.00 X 1.00 DESC: RMVNG U.G. COPPER CA. ADDRESS:	1.00LF FRM CONDUIT	151.00 UP TO 1.25	\$.75 DIAPER	\$113.25 LINEAR FO	5 5 C OT
603B 1.00 X 1.00 X 1.00 DESC: REPAIR OCCUPIED CONDU		18.00	\$6.45	\$116.10	5C
832 6.00 X 3.00 X 2.00 DESC: BANKRUN GRAVEL BACKFI ADDRESS:			\$.70	\$25.20	5C
832 8.00 X 3.00 X 2.00 DESC: BANKRUN GRAVEL BACKFI ADDRESS:	- 48.00CF LL-PER CUBIC	,1.00 FOOT	\$.70	\$33.60	50
832 5.00 X 2.50 X 2.00 DESC: BANKRUN GRAVEL BACKFI ADDRESS:			\$.70	\$17.50	5C
832 5.00 X 2.00 X 2.00 DESC: BANKRUN GRAVEL BACKFI ADDRESS:			\$.70	\$14.00	5C
832 4.00 X 3.00 X 2.00 DESC: BANKRUN GRAVEL BACKFI ADDRESS:			\$.70	\$16.80) 5C
Number of Items: 7	······································	Total	Price;	\$336	5,45

TICKET: 11423 WORKED: 04/11/96 page 1

CONTRACTOR BILLING UNIT PROPOSAL

Contractor's Rep.	Date	CBT Inspector	Date

Date Worked: [09/06/95] T Location: [WEAVER ALLEY Contractor: [J.DANIEL & CO., IN Estimate Number: [M5440B] Contractor's Rep.: [ER] Date Submitted: [09/07/95] Da	954205; C.] R.(Field (CBT Inspecto te Approved	BNW C.# [05030 Codes: [4C or: [RMH] : [09/15/9	000]] Arc] ea: [70000]	_
Description of Work: [RESTRICTE [D TIME 7:30	-9:00]		1	
	LABOR	-			
ITEM CODE EXTC UNIT OF MEAS.		NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
102 497 LABORER-PER HOUR No. of Emp.: 2 Names: D.WHI	TT & S.PIERS		\$16.03	\$48.09	4C
• • • • • • • • • • • • • • • • • • • •	MATERIAL				
EXTC UNIT OF MEAS.		NO. OF	UNIT PRICE	TOTAL	FIELD CODE
523 CONCRETE CORING (TKT#33763) 68	FT X 12" F/S			\$175.00 CRETE	4C
	EQUIPMENT	r			
ITEM CODE EXTC UNIT OF MEAS.	•	NO. OF UNITS		TOTAL	FIELD CODE
111 497 PICKUP TRUCK (OTHER THAN SUPERV	ISOR'S)-PER		\$1.00	\$1.50	4C
112 497 DUMP TRUCK - 1 TON-PER HOUR		1.50	\$7.10	\$10.65	4 C
127 497 AIR COMPRESSOR-PER HOUR		1.50	\$6.60	\$9.90	4C
			LABOR:	\$48.09	
			MATERIAL: of MATL:	\$175.00 \$35.00	
			QUIPMENT:	\$22.05	
			TOTAL:	\$280.1	.4

TICKET:

2028 WORKED: 09/06/95 page 1

Mon May 13 1996_09:17:19

CONTRACTOR BILLING MISC. WORK ACTIVITY

Contractor's Rep.	Date	CBT Inspector	Date

Date Worked: [09/11/95] Ticket No.: Location: [WEAVER ALLEY @ RACE 956 Contractor: [J.DANIEL & CO., INC.] R Estimate Number: [M5440B] Field Contractor's Rep.: [ER] CBT Inspect Date Submitted: [09/12/95] Date Approve	4205BNW .C.# [05030 Codes: [40 tor: [RMH] d: [09/15/9	000] :] Ar] ea: [70000]	
Description of Work: [RESTRICTED TIME 7:30	0-9:00]		1	
LABOR	· . · · · · · · · · · · · · · · · · · ·			·····
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
102 497 LABORER-PER HOUR	3.00	\$16.03	\$48.09	4C
No. of Emp.: 2 Names: K.ERNST & B.WHIT	TAKER			
EQUIPMEN				
CC EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD
112 497 DUMP TRUCK - 1 TON-PER HOUR	1.50	\$7.10	\$10.65	4 C
127 497 AIR COMPRESSOR-PER HOUR	1.50	\$6.60	\$9.90	4C
		LABOR:	\$48.09	
		MATERIAL.	\$.00	
		of MATL: QUIPMENT:	\$.00 \$20.55	
		TOTAL:	\$68.6	4
			·	
Contractor's Rep. Date	CBT Inspec	tor	Date	_

TICKET: 2061 WORKED: 09/11/95 page 1

Date Worked: [09/12/95] Ticket No.: Location: [WEAVER ALLEY @ RACE ST 95420 Contractor: [J.DANIEL & CO., INC.] R. Estimate Number: [M5440B] Field Contractor's Rep.: [DD] CBT Inspect Date Submitted: [09/12/95] Date Approved	5BNW C.# [05030 Codes: [40 or: [RMH] L: [09/15/9	000] Arc] ma: [70000]	
Description of Work: [1/2 PREMIUM TIME 12; [30AM-1:30	AM j]	
LABOR				····
CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
102 497 LABORER-PER HOUR No. of Emp.: 3 Names: K.ERNST, B.WHITA	1.50 KER & E.RA	\$16.03 NDALL	\$24.05	4C
		LABOR:	\$24.05	
	20%	of MATL: QUIPMENT:	\$.00 \$.00 \$.00)
		TOTAL:	\$24.0	5
Contractor's Rep. Date	CBT Inspec	tor	Date	

Date Worked: [09/11/95] Ticket No.: Location: [WEAVER ALLEY @ RACE ST 95420 Contractor: [J.DANIEL & CO., INC.] R. Estimate Number: [M5440B] Field Contractor's Rep.: [DD] CBT Inspect Date Submitted: [09/12/95] Date Approved Description of Work: [RESTRICTED TIME 4:30	5BNW C.# [05030 Godes: [4C or: [RMH] : [09/15/9	000] Are] ea: [70000] FIME]]	
LABOR				
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
102 497 LABORER-PER HOUR	16.50	\$16.03	\$264.50	4C
No. of Emp.: 3 Names: K.ERNST, B.WHITA	KER & E.RA	NDALL		
EQUIPMEN				
ITEM CO EXTC UNIT OF MEAS.		UNIT PRICE	TOTAL	FIELD CODE
112 497 DUMP TRUCK - 1 TON-PER HOUR	1.50	\$7.10	\$10.65	4C
127 497 AIR COMPRESSOR-PER HOUR	1.50	\$6.60	\$9.90	4 C
156 497 FLASHING TRAFFIC ARROW-PER HOUR	1.50	\$5.50	\$8.25	4C
		LABOR:	\$264.50	<u> </u>
		MATERIAL:	\$.00)
		of MATL: EQUIPMENT:	\$.00 \$28.80	
		TOTAL:	\$293.3	30
Contractor's Rep. Date	CBT Inspec	ctor	Date	

TICKET: 2063 WORKED: 09/11/95 page 1

Date Worked: [09/12/95] Ticket No. Location: [WEAVER ALLEY @ RACE 9542 Contractor: [J.DANIEL & CO., INC.] Estimate Number: [M5440B] Fiel Contractor's Rep.: [DD] CBT Inspended Submitted: [09/13/95] Date Approx Description of Work: [RESTRICTED TIME 4: [12:00]	05BNW R.C.# [05030 ld Codes: [40 ector: [RMH] red: [09/15/9	000] Are		
LABOR				
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS		TOTAL	FIELD CODE
102 497 LABORER-PER HOUR No. of Emp.: 3 Names: D.WHITT, S.PIE		\$16.03 DALL	\$216.41	4C
•				
ITEM CC EXTC UNIT OF MEAS.	NO. OF UNITS		TOTAL	FIELD CODE
111 497 PICKUP TRUCK (OTHER THAN SUPERVISOR'S)-P	1.50 PER HOUR	\$1.00	\$1.50	4 C
112 497 DUMP TRUCK - 1 TON-PER HOUR	1.50	\$7.10	\$10.65	4C
127 497 AIR COMPRESSOR-PER HOUR	1.50	\$6.60	\$9.90	4C
156 497 FLASHING TRAFFIC ARROW-PER HOUR	1.50	\$5.50	\$8.25	4C
		LABOR:	\$216.41	
		MATERIAL:	\$.00)
		of MATL: QUIPMENT:	\$.00 \$30.30	
	-	TOTAL:	\$246.7	

Contractor's Rep.

Date

CBT Inspector

Date

TICKET:

2071 WORKED: 09/12/95

page 2

			·	_
Date Worked: [09/14/95] Ticket No.: Location: [WEAVER ALLEY @ RACE 95420: Contractor: [J.DANIEL & CO., INC.] R Estimate Number: [M5440B] Field Contractor's Rep.: [DD] CBT Inspect Date Submitted: [09/14/95] Date Approved Description of Work: [RESTRICTED TIME 4:30	5BNW .C.# [05030 Codes: [4C tor: [RMH] d: [09/15/9	•] ea: [70000]	
]	
LABOR				
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
102 497 LABORER-PER HOUR		•	\$288.54	4G
No. of Emp.: 4 Names: D.WHITT, K. ERNST	, D.LOCKHAR	U & E.KANU	*LL	
MATERIA	L NO. OF	UNIT		FIELD
EXTC UNIT OF MEAS.		PRICE	TOTAL	CODE
523 ROTH (TKT#18876) SMALL LOAD CHARGE ON 5 Y		\$25.00 Concrete	\$25.00	4C
523 ROTH (TKT#18876) PLANT START UP TIME 9:30	2.75 -12:15 \$200	•	\$550.00	4C
523 ROTH (TKT#18876) HIGH EARLY	1.00	\$22.50	\$22.50	4C
523 ROTH (TKT#18876) TRUCK TIME \$5/CY	5.00	\$5.00	\$25.00	4C
EQUIPME	NT			
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD
112 497 DUMP TRUCK - 1 TON-PER HOUR	3.00	\$7.10	\$21.30	4C
127 497 AIR COMPRESSOR-PER HOUR	1.50	\$6.6 0	\$9.90	4C
156 497 FT "HING TRAFFIC ARROW-PER HOUR	1.50	\$5.50	\$8.25	4C

TICKET: 2089 WORKED: 09/14/95 page 1

LABOR: \$288.54

MATERIAL: \$622.50
20% of MATL: \$124.50
EQUIPMENT: \$39.45

TOTAL: \$1,074.99

Contractor: [J.DANIEL & CO., IN Estimate Number: [M5440B Contractor's Rep.: [ER] Date Submitted: [09/22/95] Date	95420 NC.] R. Field CBT Inspect ate Approved	5BNW C.# (05030 Codes: [4C or: [RMH] : [09/29/9	000]] Are] ea: [70000]	
Description of Work: [RESTRICT]	ED TIME 7:30	-9:00]		1	
	LABOR				
ITEM CODE EXTC UNIT OF MEAS.		NO. OF UNITS	unit Price	TOTAL	FIELD
102 497 LABORER-PER HOUR No. of Emp.: 2 Names: D.WH	TT L V MOTI	3.00	\$16.03	\$48.09	4C
no. of Emp 2 Names. D. with	EQUIPMEN				
ITEM CC EXTC UNIT OF MEAS.	DQUIFFER	NO. OF UNITS	UNIT PRICE	TOTAL	FIELE CODE
111 497 PICKUP TRUCK (OTHER THAN SUPERV	/ISOR'S)-PER	1.50 HOUR	\$1.00	\$1.50	4C
112 497 DUMP TRUCK - 1 TON-PER HOUR		1.50	\$7.10	\$10.65	4 C
127 497 AIR COMPRESSOR-PER HOUR		1.50	\$6.60	\$9.90	4C
	·	20%	LABOR: MATERIAL: of MATL: QUIPMENT:	\$48.09 \$.00 \$.00 \$22.05)
			TOTAL:	\$70.1	4

TICKET:

2140 WORKED: 09/21/95

page 1

Date Worked: [09/23/95] Ti Location: [WEAVER ALLEY	cket No.: [954205BN	1	49]	1	
Contractor: [J.DANIEL & CO., INC	Field C BT Inspecto	.# [05030 odes: [40 r: [RMH]] Are	, ea: [70000]	
Description of Work: [1/2 PREMIU			-1	I 1	
	LABOR	NO OF	176747		
CODE EXTC UNIT OF MEAS.		NO. OF UNITS	UNIT PRICE	TOTAL	FIEL
102 497 LABORER-PER HOUR No. of Emp.: 2 Names: K.ERNS	T & B.WHITA	8.00 Ker	\$16.03	\$128.24	4C
**************************************			LABOR:	\$128.24 \$.00	
		209	of MATL: QUIPMENT:	\$.00 \$.00 \$.00)
			TOTAL:	\$128.2	24
		٠			

Location: [WEAVER ALLEY Contractor: [J.DANIEL & CO., II Estimate Number: [M5440B Contractor's Rep.: [ER] Date Submitted: [10/20/95] Da	Field CBT Inspect ate Approved	NW C.# [05030 Codes: [45 or: [RMH] : [10/28/9	000] R] Arc] ma: [70000]	
Description of Work: [REMOVE & [STACK BRICK	FROM ALLE	[Y]]	
	LABOR				
ITEM CODE EXTC UNIT OF MEAS.		NO. OF UNITS	UNIT PRICE	TOTAL	FIELD
102 497 LABORER-PER HOUR		6.00	\$16.03	\$96.18	45R
No. of Emp.: 2 Names: K.ERI					
ITEM	EQUIPMEN'	T NO. OF	UNIT		FIELD
C' EXTC UNIT OF MEAS.		UNITS	PRICE	TOTAL	CODE
112 497 DUMP TRUCK - 1 TON-PER HOUR		3.00	\$7.10	\$21.30	45 R
127 497 AIR COMPRESSOR-PER HOUR		3.00	\$6.60	\$19.80	45R
			T L DOD	006 16	
			LABOR: MATERIAL:	\$96.18 \$.00	
			of MATL:	\$.00	
		E	QUIPMENT:	\$41.10)
			TOTAL:	\$137.2	8
Contractor's Rep. Date		CBT Inspec		Date	_

TICKET: 2336 WORKED: 10/19/95 page 1

Date Worked: [10/21/95] Ticket No.: Location: [WEAVER ALLEY 954205] Contractor: [J.DANIEL & CO., INC.] R.C Estimate Number: [M5440B] Field Contractor's Rep.: [ER] CBT Inspector Date Submitted: [10/23/95] Date Approved: Description of Work: [REMOVE BRICK & BASE INTERIOR TIME - 10:30-3:30 1/2 PREMIUM TIME	BNW C.# [05030 Codes: [40 or: [RMH] : [10/28/9	000]		
LABOR				
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
102 497 LABORER-PER HOUR No. of Emp.: 2 Names: K.ERNST & K.MOLEN		\$16.03	\$200.38	4C
equi pmeni	•			
ITEM CC EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
112 497 DUMP TRUCK - 1 TON-PER HOUR	2.50	\$7.10	\$17.75	4C
127 497 AIR COMPRESSOR-PER HOUR	2.50	\$6.60	\$16.50	40
	20%	LABOR: MATERIAL: of MATL: QUIPMENT:	\$.00)
		TOTAL:	\$234.6	3
Contractor's Rep. Date (CBT Inspec	tor	Date	

TICKET: 2343 WORKED: 10/21/95 page 1

20%	LABOR: MATERIAL: of MATL: QUIPMENT:	\$264.50 \$.00 \$.00 \$124.85	
5.50	\$6.60	\$36.30	45R
5.50	\$9.00	\$49.50	45R
5.50	\$7.10	\$39.05	45R
		TOTAL	FIELI
5.50	\$16.03	\$264.50	45R
	UNIT PRICE	TOTAL	FIELI CODE
	O. OF NITS 6.50	O. OF UNIT PRICE 6.50 \$16.03 O. OF UNIT PRICE 5.50 \$7.10 5.50 \$9.00	2 LOCATIONS - 7X3 & 8X3] 0. OF UNIT NITS PRICE TOTAL 6.50 \$16.03 \$264.50 0. OF UNIT NITS PRICE TOTAL 5.50 \$7.10 \$39.05 5.50 \$9.00 \$49.50

TICKET: 2417 WORKED: 11/04/95 page 1

Date Worked: [11/15/95] Ticket Not Location: [WEAVER ALLEY 95420] Contractor: [J.DANIEL & CO., INC.] Estimate Number: [M5440B] Fig Contractor's Rep.: [ER] CBT Insp Date Submitted: [11/15/95] Date Appropriate Description of Work: [HOBBS CONCRETE - [05BNW R.C.# [05030 ald Codes: [40 bector: [RMH] oved: [11/15/9	0000] :] Ar		
MATER	IAL			
EXTC UNIT OF MEAS.	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
523 HOBBS - CLASS C CONCRETE	1.00	\$115.00	\$115.00	4C
523 HOBBS- 1% CALCIUM	1.00	\$2.00	\$2.00	4G
523 HOدعدS- TRUCK TIME	1.00	\$30.00	\$30.00	4C
		LABOR:	\$.00	
		MATERIAL: of MATL:	\$147.00 \$29.40	
		QUIPMENT:	\$.00	
		TOTAL:	\$176.4	۸.

Contractor's Rep. Date

TICKET: 2479 WORKED: 11/15/95 page 1

Date

CBT Inspector

Date Worked: [11/16/95] Ticket Location: [GARFIELD PLACE #120 9 Contractor: [J.DANIEL & CO., INC.] Estimate Number: [M5440B] E Contractor's Rep.: [BW] CBT In Date Submitted: [11/17/95] Date App Description of Work: [ATTEMPT TO FINE	961459BNW R.C.# [05060 Field Codes: [5C aspector: [WW] proved: [11/20/9	000] Ara 5]		
TAE	BOR			
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS		TOTAL	FIELD CODE
101 497 EQUIPMENT OPERATOR-PER HOUR No. of Emp.: 1 Names: L.COLLINS	1.00	\$22.24	\$22.24	5 C
102 497 LABORER-PER HOUR No. f Emp.: 1 Names: J.KNUCKLES	1.00	\$16.03	\$16.03	5C
EQU	JIPMENT			
ITEM CODE EXTC UNIT OF MEAS.	NO, OF Units		TOTAL	FIELD CODE
111 497 PICKUP TRUCK (OTHER THAN SUPERVISOR'S	1.00 S)-PER HOUR	\$1.00	\$1.00	5C
114 497 TRUCK EQUIPPED WITH WINCH-PER HOUR	1.00	\$6.96	\$6.96	5C
	20%	LABOR: MATERIAL: of MATL: QUIPMENT:	\$38.27 \$.00 \$.00 \$7.96))
		TOTAL:	\$46.2	23

ontractor's Rep. Date

TICKET: 2486 WORKED: 11/16/95 page 1

Date

CBT Inspector

Date Worked: [11/17/95] Ticket No.: Location: [120 GARFIELD PLACE 961459 Contractor: [J.DANIEL & CO., INC.] R. Estimate Number: [M5440B] Field Contractor's Rep.: [BW] CBT Inspect Date Submitted: [11/20/95] Date Approved Description of Work: [AM RESTRICTED] [BNW C.# [05060 Codes: [5C cor: [WW]	000] Arc] ea: [70000]]]	
LABOR				
ITEM CODE EXTC UNIT OF MEAS	NO. OF UNITS	UNIT PRICE	TOTAL	FIELD CODE
101 497 EQUIPMENT OPERATOR-PER HOUR No. of Emp.: 1 Names: L.COLLINS	1.50	\$22.24	\$33.36	5C
102 497 LABORER-PER HOUR No of Emp.: 1 Names: J.KNUCKLES	1.50	\$16.03	\$24.05	5 <i>C</i>
EQUIPMEN	T			
ITEM CODE EXTC UNIT OF MEAS.	NO. OF UNITS		TOTAL	FIELD CODE
111 497 PICKUP TRUCK (OTHER THAN SUPERVISOR'S)-PER	1,50 L HOUR	\$1.00	\$1.50	5 C
114 497 TRUCK EQUIPPED WITH WINCH-PER HOUR	1.50	\$6.96	\$10.44	5C
118 497 CABLE REEL TRAILER-PER HOUR	1.50	\$2.19	\$3.29	5 C
	20%	LABOR: MATERIAL: of MATL: QUIPMENT:	\$57.41 \$.00 \$.00 \$15.23))
		TOTAL:	\$72.6	54